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Child Development and Pedagogy

1.	 Which of the following statements is correct about 
development ?
(1)	 Development is uniform
(2)	 Development is entirely unpredictable
(3)	 There are individual differences in development
(4)	 Development proceeds from specific to general

2.	 Assertion (A) : Provision of mid-may meals in 
schools can ensure better nutritional health of the 
students.

	 Reason (R) : Environmental factors do not play 
any role in shaping an individual since growth is 
determined only by heredity.

	 Choose the correct option :
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.

3.	 As an agency of secondary socialization the primary 
function of the school is to :
(1)	 Cut the child off from the home.
(2)	 Undo the learning children had at home.
(3)	 Contradict the learnings acquired by the child in 

the family.
(4)	 Be an extension of the family and build upon the 

things child is familiar with.
4.	 In Jean piaget's theory ................ is said to occur 

when a child perceives new objects or events in 
terms of existing schemas :
(1)	 Assimilation	 (2)	 Organization
(3)	 Metacognition	 (4)	 Scaffolding

5.	 Despite their abilities to solve different kinds 
of problems .......... children still cannot think 
hypothetically.
(1)	 Sensori-motor	 (2)	 Concrete operational
(3)	 Pre-operational	 (4)	 Formal operational

6.	 According to Kohlberg the pre-conventional level of 
moral development is characterised by :
(1)	 Focus on how cultural factors and gender 

influences moral development
(2)	 Good or bad is determined by the consequences 

of obeying or disobeying rules
(3)	 The individual strives to maintain the expectations 

of others rather than focus on the consequences 
of one's actions.

(4)	 Self-chosen ethical principles that are universal

7.	 A teacher believing in Vygoysky's sociao-cultural 
theory should :
(1)	 Discourage interaction and dialogue among 

students
(2)	 Provide appropriate scaffolding to students as 

and when required
(3)	 Offer rewards and punishment to students 

regulating their behaviour
(4)	 Enable students to from association between 

stimulus and response
8.	 In Lev Vygotsky's theory, knowledge is co-

constructed by the child and the adult .............. the 
zone of proximal development.
(1)	 Outside	 (2)	 Within
(3)	 Beneath	 (4)	 Ahead of

9.	 Which of the following is NOT included in a 
progressive and child-centered education ?
(1)	 Use of digital technology and teaching-learning 

materials
(2)	 Emphasis learning from activities, experiences, 

and playful exploratory manner
(3)	 Emphasis only on course completion with 

structured curriculum
(4)	 Active participation of students with democratic 

and free expression
10.	 Measurement of intelligence by calculating 

Intelligence Quotient (IQ) through use of 
standardized tests is problematic because -
(1)	 are not Culturally fair
(2)	 give only qualitative analysis
(3)	 measure intelligence comprehensively
(4)	 account for individual differences

11.	 Assertion (A) : Teachers should not create print-rich 
environment in the elementary classrooms.

	 Reason (R) : Development of language is inborn 
ability.

	 Choose the correct option.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.

12.	 Assertion (A) : Boys and Girls learn to behave 
in 'Gender appropriate' ways by observing and 
limitating same-sex adults.

	 Reason (R) : Gender is a purely biological construct.
	 Choose the correct option.

(1)	 Both (A) and (R) are true and (R) is the correct 
explanation of (A).

(2)	 Both (A) and (R) are true but (R) is the correct 
explanation of (A).

(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.
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13.	 While interacting with a diverse group of students, a 

teacher :
(1)	 Should discourage discussions that encourage 

the students to talk about their backgrounds and 
experiences.

(2)	 Continuously reflect on her own stereotypes and 
biases.

(3)	 Follow a uniform curriculum and standardised 
evaluation.

(4)	 Adopt the lecture method as the primary mode 
of teaching.

14.	 Assessment should be :
(1)	 Holistic and continuous.
(2)	 Standardised and exam centric.
(3)	 Summative and norm-referenced.
(4)	 Teacher-centered and discontinuous

15.	 Which of the following is not a characteristic of 
students who are critical thinkers ?
(1)	 Open-mindedness and inquisivness
(2)	 Following instructions blindly
(3)	 Asking clarifying questions
(4)	 Assessing the credibility of sources

16.	 Which of the following of advocates a flexible 
learning environment considering the unique needs 
of each child in an inclusive classroom ?
(1)	 Highly structured curriculum
(2)	 Standardized assessment
(3)	 Universal designs for learning
(4)	 Uniform and summative assessment

17.	 In a group of diverse learners teachers should 
practise multicultural education :
(1)	 Aimed at ensuring uniform and standardised 

curriculum.
(2)	 By using uniform and standardized assessment.
(3)	 By creating separate sections based on the 

cultural backgrounds of children.
(4)	 By creating a classroom ethos where every child 

feels a sense of belonging.
18.	 Sunita exhibits repetitive motor actions and had 

difficulty making friends though she had ability 
for excellent attention, to detail. These are typical 
identifying characteristics of :
(1)	 Autism	
(2)	 Dyslexia
(3)	 Dysgraphia	
(4)	 Attention deficit hyperactivity disorder

19.	 Which of the following is an example of assitive 
technology to aid hearing ?
(1)	 Braille system	 (2)	 Walking stick
(3)	 Sound amplifier	 (4)	 Eyeglasses

20.	 Which of the following are important characteristics 
of creativity ?
(i)	 Divergent thinking	 (ii)	Originality of ideas
(iii) Flexibility	 (iv)	Convergent thinking
(1)	 (i) (ii) (iii)	 (2)	 (i) (ii)
(3)	 (ii) (iii)	 (4)	 (i) (ii) (iii) (iv)

21.	 For effective learning, teachers should ensure that 
the learning activities :
(1)	 Build on the previous understanding of the 

students and further it.
(2)	 Are aimed to only reproduce knowledge from 

the textbook.
(3)	 Are decontextualized and depersonalized.
(4)	 Are extremely complex and abstract.

22.	 'Alternative conceptions' among children :
(1)	 Reflect the egocentric and irrational thinking of 

children.
(2)	 Are found only in children with very high IQ 

levels.
(3)	 Are an obstracle to learning and should be 

punished.
(4)	 Are the 'native' theories that children construct 

about phenomenon around them.
23.	 Teachers can encourage effective problem solving 

by:
(1)	 Discouraging multiple perspectives and guesses 

in her class
(2)	 Encouraging children to make intuitive guesses
(3)	 Writing step-by-step solution to the problem
(4)	 Focusing on the reproduction of textbook 

knowledge
24.	 As the class teacher of an underachieving child, 

which of the following facilitative strategies do you 
think would be most useful ?
(1)	 Give the students a long lecture on his 

underachievement
(2)	 Try to identify the reasons for his 

underachievement and set short term, achievable 
goals

(3)	 Ask the school management to take necessary 
steps such as making a separate section for 
under achieving students

(4)	 Call the parents of the child and tell them that 
their child does not have any ability so they 
should put the child in a separate school

25.	 Which of these is an important activity to enable 
conceptual understanding in children ?
(1)	 Dialogue	 (2)	 Lecture
(3)	 Direct Instruction	 (4)	 Rewards

26.	 According to National Education policy 2020, 
experiential learning will be adopted in all stages. 
What is NOT correct with respect to experiential 
learning ?
(i)	 It makes the teacher more active in the teaching-

learning process than the students.
(ii)	It helps in connecting past experiences to 

gaining new knowledge and transfer of positive 
learning.

(iii) It is completely based on the promotion of 
traditional bookish knowledge.

(iv)	It emphasizes on developing real and scientific 
understanding in students through experiences 
and experiments.

(1)	 (ii), (iv)	 (2)	 (i), (iii)
(3)	 (i), (iv)	 (4)	 (ii), (iii)

27.	 Which of the following emotions facilitates the 
process of meaningful learning ?
(1)	 Panic	 (2)	 Frustration
(3)	 Irritation	 (4)	 Excitement

28.	 Children learn best through the processes of :
(1)	 Passive imitation	 (2)	 Drill and recall
(3)	 Rote memorization	 (4)	 Guided discovery

29.	 Which of the following is a higher order ability that 
involves thinking about one's own thinking ?
(1)	 Recall	 (2)	 Conditioning
(3)	 Metacognition	 (4)	 Repetition



Paper-2:  17th January, 2023 �  145
30.	 Teachers can encourage children to become 

intrinsically motivated by :
(1)	 Use of methods of conditioning	
(2)	 Giving appropriate rewards
(3)	 By use of punishment	
(4)	 By considering student's interests

Mathematics and Science
31.	 When we add one to four digit greatest number, we 

get :
(1)	 A four digit number with unit digit 9.
(2)	 The five digit greatest number.
(3)	 The five digit least number.
(4)	 A five digit number with unit digit 1.

32.	 While teaching Class VI students, teacher explains 
that :

	 6 + 4 = 4 + 6
	 6 – 4 ≠ 4 – 6
	 6 × 4 = 4 × 6
	 Which property He/She is trying to explain :

(1)	 Closure property	
(2)	 Associative property
(3)	 Commutative property
(4)	 Multiplicative inverse property

33.	 Which of the following is a prime number ?
(1)	 1	 (2)	 2
(3)	 9	 (4)	 4

34.	 If we multiply a fraction by itself and then divide 
the product so obtained by its reciprocal, then the 

fraction obtained is 2
10
27

. The original fraction is :

(1)
	

2
1
3 	

(2)
	

1
1
3

(3)
	

3
1
3 	

(4)
	

8
3

35.	 What number should be added to 0.01 to get 1.1 ?
(1)	 1.11	 (2)	 1.09
(3)	 0.91	 (4)	 0.19

36.	 For an algebraic operation (addition, subtraction or 
multiplication), which of the following statement is 
NOT true ?
(1)	 Like terms are added	
(2)	 Like terms are subtracted
(3)	 In addition and subtraction, like and unlike 

terms are left as they are
(4)	 Only like terms are multiplied

37.	 The ages (in years) of Hari and Harry are in the ratio 
5 : 7. Four years from now, the ratio of their ages will 
be 3 : 4. Their present ages are :
(1)	 Hari 28 years, Harry 20 years.
(2)	 Hari 20 years, Harry 28 years.
(3)	 Hari 15 years, Harry 21 years.
(4)	 Hari 21 years, Harry 15 years.

38.	 In a two digit number, the digit in tens place exceeds 
the digit in units place by 4. If the sum of the digits 

is 
1
7  

of the number, then the digit at the units place 

in the number is :
(1)	 5	 (2)	 4
(3)	 3	 (4)	 1

39.	 If x is the simple interest (in `) on ` 30000 at 15% per 
annum for 3 years, then the value of 2x + 50 is :
(1)	 27500	 (2)	 27050
(3)	 25750	 (4)	 25700

40.	
( )( )

( )
4 12 9

2 3

2 2

2
x x ax bx

x x
� � �

�  
is equal to :

(1)	 (ax + b) (2x + 3)	 (2)	 (ax + b) (2x – 3)
(3)	 (ax – b) (2x + 3)	 (4)	 (ax – b) (2x – 3)

41.	 If x, y and z respectively represents the number of 
faces, edges and vertices of a hexagonal pyramid, 

then the value of x y z� ��
�
�

�
�
�2

2

 
is:

(1)	 121	 (2)	 144
(3)	 169	 (4)	 196

42.	 A triangle is to be constructed with sides (2p – 1) cm, 
(2p + 1) cm and 12cm. For constructing the triangle, 
p must always be :
(1)	 Greater than 3	 (2)	 Greater than 2.5
(3)	 Equal to 3	 (4)	 Equal to 2.5

43.	 Number of degrees (°) in four and two-third of right 
angle is :
(1)	 310	 (2)	 330
(3)	 420	 (4)	 400

44.	 In which of the quadrilaterals - Rectangles, Square, 
Rhombus and Parallelogram, the diagonals are 
perpendicular to each other ?
(1)	 Rectangle and Square	
(2)	 Square and Rhombus
(3)	 Parallelogram and Rhombus
(4)	 Rhombus and Rectangle

45.	 Which of the following figures have no line of 
symmetry ?
(1)	 Isosceles triangle	 (2)	 Kite
(3)	 Parallelogram	 (4)	 Circle

46.	 If the volumes of two cubes are in the ratio 27 : 64, 
then the ratio of their total surface area is :
(1)	 27 : 64	 (2)	 3 : 4
(3)	 9 : 16	 (4)	 3 : 8

47.	 The area of a rectangle of length 18 cm is equal to the 
area of a square of side 12 cm. Then, the perimeter 
of the rectangle (in cm) is :
(1)	 26	 (2)	 36
(3)	 52	 (4)	 72

48.	 The perimeter of a trapezium is 104 cm and each of 
its non-parallel sides is equal to 20 cm. If its height is 
16 cm, then its area (in cm2) is :
(1)	 512	 (2)	 496
(3)	 472	 (4)	 448

49.	 Which of the following is a characteristic of the 
median of a data ?
(1)	 It gets affected by extreme scores of data.
(2)	 It is same as finding mean.

(3)	 It is always equal to the value of (mean ) + mode
2

.

(4)	 It does not get affected by extreme scores of the 
data.
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50.	 A box contains 10 slips with numbered 1 to 10 (one 

number on one slip) which have been mixed well. 
One slip is chosen from the box without looking 
into it. What is the probability of getting a number 
greater than 6 ?

(1)
	

1
2 	

(2)
	

2
5

(3)
	

3
5 	

(4)
	

4
5

51.	 Which among the following is NOT a key process to 
be developed in mathematical reasoning ?
(1)	 Recognising patterns	
(2)	 Memorising a formula
(3)	 Identifying relationships	
(4)	 Formulating hypothesis

52.	 Which of the following is the most appropriate 
method to teach the identity (a + b)2 using chalk 
and blackboard ?
(1)	 Write (a + b)2 = a2 + b2 + 2ab on the blackboard 

and solve related problems as examples
(2)	 Demonstrate the multiplication, (a + b)2 = (a + b) 

× (a + b)
(3)	 Take a chart of identities in the classroom and 

help students memorise them
(4)	 Make a jingle and help the students memorise 

all such identities
53.	 It has been observed that people involved 

in occupations require mathematical skills 
of computation and estimation like vendors, 
construction workers etc. are often not able to cope 
up with formal school mathematics. Which of the 
following offers the most appropriate explanation 
for this ?
(1)	 School mathematics requires a different level of 

intelligence
(2)	 Many people are inherently incapable of learning 

school mathematics
(3)	 School curriculum usually does not incorporate 

ways of teaching-learning specific to learner’s 
cultural context

(4)	 People coming from these occupational 
backgrounds do not have time to practice 
problems given in the textbook at home

54.	 A students in class VI gives the following statement 
in a mathematics class :

	 “A 3D shape can be transformed into a 2D shape”.
	 Which of the following concepts the child is correctly 

applying to the above situation ?
(1)	 Viewing objects from different sides
(2)	 Scaling
(3)	 Rotation
(4)	 Symmetry

55.	 It was observed that a class VII student was able to 

find the answer of 
1
4

2
3

÷  but was not able to give 

a real-life situation of application of the same. The 
reason could be :
(1)	 The teacher did not develop the idea of division 

of fractions using concrete materials before 
introducing the standard algorithm

(2)	 There are hardly any real-life applications of 
fractions

(3)	 The students did not pay attention when the 
teacher was teaching the topic

(4)	 Division of fractions is a difficult concept for 
class VII student

56.	 Which of the following is the most appropriate 
way to teach the middle school students that 
mathematical probability of any outcome in a 
random event lies between 0 to 1 ?
(1)	 By writing the formula of probability as possible 

outcomes divided by total number of outcomes
(2)	 By using videos based on solving problems on 

probability from internet
(3)	 By telling the students to do some experiments 

and verify
(4)	 By conducting a practical experiment of any 

random event like throwing a dice, flipping 
a coin etc. and asking students to note the 
outcomes

57.	 According to many research studies, which of the 
following is the most appropriate reason for gender 
based differences in mathematical achievement in 
school mathematics education.
(1)	 Inherent differences in cognitive capacities of 

males and females
(2)	 Persistent social stereotype carried out in 

classroom that mathematics is a male domain
(3)	 A natural difference in males and females with 

respect to interests in learning mathematics
(4)	 Differences in physiological and biological 

features of males and females
58.	 At primary level, children’s thinking in mathematics 

progresses from :
(A)	abstract to concrete
(B)	complex to simple
(C)	simple to complex
(D)	concrete to abstract
Choose the correct option :
(1)	 (A) and (B)	 (2)	 (B) and (C)
(3)	 (A) and (D)	 (4)	 (C) and (D)

59.	 Which among the following is an open ended 
question ?
(1)	 Identify three objects which are in the shape of a 

cuboid
(2)	 If sum of two numbers is 13 and their difference 

is 3, what are the numbers ?
(3)	 Write as many as possible even numbers
(4)	 Write even numbers, between 10 and 20 which 

are multiples of 2 and 3
60.	 Ms. Fathima, a class VIII mathematics teacher has 

given a group project on problem solving in geometry 
to her students. She assessed her students over 
a period of time on various parameters like their 
analytical skills, problem solving skills, presentation 
skills; participation in group discussions etc. Which 
assessment tool will NOT be appropriate for this 
purpose ?
(1)	 A Rating Scale
(2)	 An Interview Schedule
(3)	 A Checklist
(4)	 Rubrics
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61.	 Two wires forming the open ends of a circuit 

consisting of bulb and an electric cell are dipped 
in the following liquids one by one and it is noted 
whether the bulb in the circuit glows or not. 

	 Following are the observation :
	 Liquid	 Bulb glows or not
	 A	 
	 B	 
	 C	 
	 D	 
	 A, B, C and D could be :

(1)	 copper sulphate, sugar solution, distilled water, 
salt water

(2)	 sugar solution, distilled water, salt water, copper 
sulphate

(3)	 distilled water, salt water, copper sulphate, sugar 
solution

(4)	 salt water, copper sulphate, sugar solution, 
distilled water

62.	 The conversion of milk into curd is :
(1)	 Physical and Reversible change
(2)	 Physical and Irreversible change
(3)	 Chemical and Reversible change
(4)	 Chemical and Irreversible change

63.	 W is a chemical substance used in antacids as well as 
cleaning and baking products. It’s chemical nature is 
X. When turmeric solution is added to X, it turns Y. 
The common name of W is Z. W, X, Y, Z respectively 
are :  
(1)	 sodium carbonate, basic, bluish, washing soda
(2)	 sodium hydroxide, acidic, reddish, baking soda
(3)	 sodium bicarbonate, basic, reddish, baking soda
(4)	 sodium bicarbonate, acidic, reddish, washing 

soda
64.	 Read the following statements regarding viruses 

and choose the correct statements :
(A)	They lack cellular structure
(B)	They contain DNA or RNA
(C)	They are smallest living micro-organisms
(D)	They can reproduce on their own
(1)	 (A) and (C)	 (2)	 (A) and (B)
(3)	 (B) and (C)	 (4)	 (C) and (D)

65.	 Seismograph is an instrument used to measure 
the intensity of earthquakes. Seismograph mainly 
consists of a :
(1)	 vibrating rod	 (2)	 electrical conductor
(3)	 electromagnet	 (4)	 barometer

66.	 Which of the following represent correct set of 
organisms with their respective respiratory organ ?

Organism Respiratory organ

(A)	 Earthworm (I)	 Gill

(B)	 Cockroach (II)	 Skin

(C)	 Dolphin (III)	Tracheal system

(D)	 Snail (IV)	Lungs
	 Codes :

	 A	 B	 C	 D
(1)	 II	 III	 IV	 I	
(2)	 II	 III	 I	 IV
(3)	 III	 II	 I	 IV	
(4)	 III	 IV	 I	 II

67.	 The sound travels from water into an iron rod and 
then into air and back into water. The speed of 
sound will successively :
(1)	 increase, increase, decrease
(2)	 decrease, increase, increase
(3)	 increase, decrease, increase
(4)	 decrease, increase, decrease

68.	 Read the following statements and choose correct 
response :

	 Assertion (A) : There is no frictional force acting on 
a stationary car.

	 Reason (R) : Friction acts only on moving objects.
(1)	 Both (A) and (R) are correct and (R) is correct 

explanation of (A).
(2)	 Both (A) and (R) are correct but (R) is not correct 

explanation of (A).
(3)	 (A) is correct but (R) is false
(4)	 Both (A) and (R) are false

69.	 Reena takes a plastic bottle and makes three 
identical holes at different levels of the bottle. She 
fills the bottle and observes water flow. Which of 
the following statement about her observation and 
inference is correct ?
(1)	 The water comes out of all the three holes with 

same force and falls at the same distance
(2)	 The water from the topmost hole comes out with 

the least force and falls at the minimum distance
(3)	 The water from the topmost hole comes out 

with maximum force and falls at the maximum 
distance

(4)	 The water from the bottom hole comes out with 
least force and falls at minimum distance

70.	 Which of the following statements is true ?
(1)	 Soils with slow percolation rate retain more 

moisture
(2)	 Roots of plants, humus and organic matter 

increases percolation rate
(3)	 Fast percolation rate helps in better absorption of 

water by roots
(4)	 Soils which have large particle size have slow 

percolation rate
71.	 Which of the following materials is best suited to 

make a fuse wire ?
	 Material 	 Melting point 	 Resistivity
		  A 	 High 	 High
		  B 	 Low 	 High
		  C 	 High 	 Low
		  D 	 Low 	 Low

(1)	 A	 (2)	 B
(3)	 C	 (4)	 D

72.	 Read the following sentences about transpiration in 
plants :
(A)	Transpiration creates suction pull which causes 

water to reach great heights in tall trees.
(B)	Transpiration helps in maintaining optimum 

body temperature in plants.
(C)	Transpiration helps in absorption of water by the 

roots.
Which of the following statements is/are correct ?
(1)	 (A) and (B)	 (2)	 (A) and (C)
(3)	 (B) and (C)	 (4)	 (A), (B) and (C)
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73.	 If a clock shows quarter past three, how would it 

appear in mirror ?
(1)	 Quarter past three	
(2)	 Quarter past nine
(3)	 Three quarters past nine
(4)	 Three quarters past eight

74.	 Hens are ........... and .......... type of fertilisation takes 
place in them.
(1)	 oviparous, internal	 (2)	 oviparous, external
(3)	 viviparous, internal	 (4)	 viviparous, external

75.	 The time period of a simple pendulum does not 
depend on :
(1)	 length of pendulum, mass of bob, material of the 

bob
(2)	 length of pendulum, distance between two 

extreme positions
(3)	 mass of the bob, material of the bob
(4)	 length of pendulum, shape of bob

76.	 Which of the following plays most crucial role in 
disaster management of cyclones ?
(1)	 Evacuation of people	
(2)	 Monitoring distribution of resources
(3)	 Helping people to build houses
(4)	 Early and effective forecast systems

77.	 The distance between Delhi and Agra is 180 km. 
Seeta travels in car from Delhi to Agra and it takes 
her 5 hours to reach Agra. While returning, if the 
speed of the car is 60 km/hr, what is the time taken to 
complete the entire journey and what is the average 
speed of the car for this journey ?
(1)	 6 hours, 40 km/hr	 (2)	 8 hours, 45 km/hr
(3)	 8 hours, 47 km/hr	 (4)	 10 hours, 47 km/hr

78.	 The shape of Red blood cells (RBCs) help in exchange 
of gases by providing large surface area. The shape 
of RBCs is :
(1)	 long and thin	 (2)	 Flat
(3)	 Disc shaped	 (4)	 Branched

79.	 Which of these statement is not true if X and Y are 
elements and combine to form a compound Z ?
(1)	 Atoms of X and Y are same
(2)	 Atoms of X and Y are present in Z
(3)	 Atoms of X, Y and Z are different
(4)	 The distribution of atoms in Z is different from 

both X and Y
80.	 Seema takes four test tubes and labels them as (A), 

(B), (C), (D). She puts an iron nail in each of the test 
tube and puts the following :
(A)	-oil	 (B)	-soda lime
(C)	-hot water	 (D)	-tap water

	 She closes all the test tubes and writes observation 
after few days.

	 Which of the following observations is correct ?
(1)	 In test tube (A) and (C), the iron nail is rusted 

whereas in  (B) and (D), it is not rusted
(2)	 In test tubes (A) and (B), the iron nail is rusted 

whereas in (C) and (D), it is not rusted
(3)	 In test tube (D), the iron nail is rusted whereas in 

(A), (B) and (C) it is not rusted
(4)	 In test tube, (C), the iron nail is rusted whereas in 

(A), (B) and (D) it is not rusted

81.	 Which of the following statements is/are true 
regarding Nature of Science ?
(A)	Science promotes Scepticism
(B)	Science is always objective
(C)	Science is interdisciplinary
(D)	Science is same across all cultures
(1)	 (A), (B)	 (2)	 (B), (C)
(3)	 (C), (D)	 (4)	 (A), (C)

82.	 ‘Naive conceptions’ which children construct about 
various science concepts and phenomenon ?
(1)	 Should be ignored by teacher as they are 

irrelevant
(2)	 should be replaced by telling the correct ones
(3)	 should be challenged by counter evidence
(4)	 should be used for grading of correct 

understanding of concepts
83.	 Presenting non examples of concept in Science :

(1)	 promotes conceptual understanding
(2)	 leads to conceptual gaps
(3)	 leads to confusion
(4)	 enhances procedural knowledge

84.	 Which of the following statements portrays a 
constructivist science classroom ?
(A)	The role of dialogue is given attention
(B)	Students’ multiple perspectives are acknowledged
(C)	Connection between Science and other subject 

areas is highlighted
(D)	Objectivity in responses is given importance
(E)	Assessment focuses on correct and scientific 

responses
(1)	 (C), (D), (E)	 (2)	 (A), (B), (C)
(3)	 (A), (B), (E)	 (4)	 (B), (D), (E)

85.	 An inclusive science classroom is characterized by :
(1)	 Standardized assessment	
(2)	 Individualized instructional plans
(3)	 Uniform curriculum and instruction
(4)	 Instruction by special educators

86.	 A student suspends a barmagnet by a thread and 
writes the following statements in her copy :

	 S1 - The bar magnet comes to rest in such a position 
that one end points in the north and the other in the 
south direction

	 S2 - A freely suspended magnet aligns in North - 
South direction

	 Which of the following statements is/are correct ?
(1)	 S1 is observation and S2 is inference
(2)	 S1 is inference and S2 is observation
(3)	 Both S1 and S2 are observation
(4)	 Both S1 and S2 are inferences

87.	 Which of the following is a divergent question ?
(1)	 Why is Venus called an evening star ?
(2)	 Why does lunar eclipse take place on a full moon 

day ?
(3)	 What would happen if the periods of rotation 

and revolution of moon were not the same ?	
(4)	 Why is Mercury the hottest planet ?

88.	 A teacher gives the following task to the students of 
class VIII.

	 “Interview 10 children from your neighbourhood 
to find out their habits and diet. On the basis of 
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information collected, identify the healthy diet 
patterns in the children” 

	 “Which process skills are being promoted by this 
activity” ?
(1)	 observing, defining operationally
(2)	 communicating, defining operationally
(3)	 observing, questioning
(4)	 observing, communicating

89.	 To encourage girls to pursue STEM related careers, 
which of the following strategies can a science 
teacher use ?
(A)	Use gender sensitive language
(B)	Invite women scientists to class
(C)	Engage students in examining stereotypes
(D)	Make gender based groups in class
(E)	Have separate instruction for girls
(1)	 (A), (B), (D)	 (2)	 (A), (B), (C)
(3)	 (C), (D), (E)	 (4)	 (A), (B), (E)

90.	 Which of the following strategies are desirable for 
assessing learners meaningfully in Science ?
(1)	 Same tasks should be given to all learners for 

parity
(2)	 Learners’ wrong answers should be ignored
(3)	 Learners’ reasoning should be given importance
(4)	 Importance should be given to precise vocabulary 

and definitions
Options :
(1)	 (A) and (B)	 (2)	 (B) and (C)
(3)	 (C) and (D)	 (4)	 (B) and (D)

Language: Hindi

funsZ'k (91-99): uhps fn, x, x|ka'k dks /;kuiwoZd if<+, rFkk iwNs x, 
ç'u ds fy, lcls mi;qDr fodYi dk p;u dhft,A
	 ,d ckr tks Hkkjr o"kZ esa lHkh cqjkb;ksa dh tM+ esa gS] og gS xjhcksa 
dh voLFkkA eku yks rqeus çR;sd xk¡o esa ,d fu%'kqYd ikB'kkyk [kksy 
nh ij rks Hkh mlls dksbZ ykHk u gksxk] D;ksafd xjhc yM+ds ikB'kkyk esa 
vkus dh vis{kk vius firk dh lgk;rk djus [ksrksa esa tkuk ;k thfodk 
ds fy, vkSj dksbZ /ka/kk djuk vf/kd ilan djsaxsA ;fn xjhc ckyd 
f'k{kk ysus ugha vk ldrk rks f'k{kk dks gh mlds ikl igq¡puk pkfg,A 
gekjs ns'k esa lgL=ksa fu"Bkoku] LokFkZ&R;kx laU;klh gSa] tks ,d xzke ls 
nwljs xzke esa /keksZins'k djrs gSaA ;fn muesa ls dqN dks HkkSfrd fo"k;ksa ds 
Hkh f'k{kd ds :i esa laxfBr fd;k tk lds] rks os ,d LFkku ls nwljs 
LFkku dks] ,d njokts ls nwljs njokts dks u dsoy /keksZins'k djrs gq, 
oju~ f'k{kk&dk;Z Hkh djrs gq, tk,¡xsA tulewg esa f'k{kk dk çlkj djuk 
vko';d gSA

91.	 x|ka'k esa Hkkjr dh cqjkbZ dk dkj.k crk;k gS -------------A
(1)	 Hkz"Vkpkj dh fLFkfr	 (2)	 xjhcksa dk gksuk
(3)	 xjhcksa dh gkyr	 (4)	 f'kf{kr yksx

92.	 vxj cPps f'k{kk rd ugha igq¡p ldrs rks --------------A
(1)	 rqEgsa ?kj ij i<+kuk pkfg,	
(2)	 mUgsa NksM+ nsuk pkfg,
(3)	 cPpksa dks fo'ks"k dsaæ Hkstuk pkfg,
(4)	 Lo;a f'k{kk dks cPpksa rd igq¡puk pkfg,

93.	 laU;kfl;ksa dks dkSu&lk Kku nsus dh ckr dh xbZ gS\
(1)	 vk/kqfud foKku dk Kku	 (2)	 HkkSfrd fo"k;ksa dk Kku
(3)	 HkkSfrd 'kkL=ksa dk Kku	 (4)	 vykSfdd fo"k;ksa dk Kku

94.	 x|ka'k ds vuqlkj leqnk; ds O;fDr;ksa dks Lo;a yksxksa ds ikl 
igq¡pdj mUgsa f'kf{kr djus dk dk;Z ------------ A
(1)	 lksp&le>dj djuk pkfg,
(2)	 djus dk 'kqYd ysuk pkfg,
(3)	 ugha djuk pkfg,	
(4)	 djuk pkfg,

95.	 cPps f'k{kk dh ctk; vius firk dh lgk;rk ds fy, tkuk D;ksa 
ilan djsaxs\
(1)	 vius vkuan ds fy,	 (2)	 thfodksiktZu ds fy,
(3)	 cqfu;knh enn ds fy,	 (4)	 i<+kbZ ls cpus ds fy,

96.	 laU;kfl;ksa ds fdu xq.kksa dh ppkZ dh xbZ gS\
(1)	 fu"Bkoku ,oa fuLokFkZ Hkko okys
(2)	 fu"Bkoku ,oa HkkSfrd fo"k; tkuus okys
(3)	 HkkSfrd fo"k; ,oa /keksZins'k nsus okys
(4)	 fu"Bkoku ,oa fu#ís'; ;k;kojh ço`fÙk okys

97.	 ^laU;klh* dk foxzg gSµ
(1)	 lu~ $ U;klh	 (2)	 la $ U;klh
(3)	 le~ $ U;klh	 (4)	 lU; $ vklh

98.	 ^/keksZins'k* dk lfU/k&foPNsn gSµ
(1)	 /keksZ $ ins'k	 (2)	 /keksZ $ mins'k
(3)	 /keksZi $ ns'k	 (4)	 /keZ $ mins'k

99.	 ^çfr $ ,d* dh lfU/k gksxhµ
(1)	 çfr,d	 (2)	 çR;sd
(3)	 çfrd	 (4)	 çrhd

funsZ'k (100-109): uhps fn, x, i|ka'k dks /;kuiwoZd if<+, rFkk iwNs 
x, ç'u ds fy, lcls mi;qDr fodYi dk p;u dhft,A
	 ru ls] eu ls] opu ls] djks lnk lRdeZA
	 lc /keks± dk lkj gS] ;gh gS ekuo&/keZû
	 diV] Øks/k] Ny] yksHk ls jfgr çse&O;ogkjA
	 lcls fey&tqydj jgks] ldy fo'o&ifjokjû
	 deZ ogh ftuls feys] lnk txr esa ekuA
	 ftudh lc fuank djsa] mUgsa R;kT; gh tkuû	

100.	ekuo dk /keZ gSµ
(1)	 lc /keks± dk ikyu djuk	 (2)	 vPNs dk;Z djuk
(3)	 dsoy lp cksyuk	 (4)	 dsoy lsok djuk

101.	çse Hkjs O;ogkj esa D;k gksuk pkfg,\
(1)	 migkj HksaV djuk	 (2)	 çse dk ykHk
(3)	 Øks/k ls eqfDr	 (4)	 fu"diVrk

102.	dfork esa fdUgsa R;kxus dh ckr dh gS\
(1)	 tks lcdh fuank djrs gSaA	 (2)	 ftudh lc cqjkbZ djrs gSaA
(3)	 tks lcdks eku nsrs gSaA	 (4)	 ftudh lc ç'kalk djrs gSaA

103.	^ldy fo'o&ifjokj* esa ------------ dk Hkko fufgr gSA
(1)	 iwjk fo'o leku gS	
(2)	 iwjk fo'o ,dy ifjokj gS
(3)	 lHkh ifjokj dh rjg fey&tqydj jgsa
(4)	 lHkh ifjokj dh ek¡xksa dks iwjk djsa

104.	fdu dk;ks± dks djus ls eku&lEeku feyrk gS\
(1)	 cM+s dk;Z djus ls	 (2)	 lRdeZ djus ls
(3)	 vkfo"dkj djus ls	 (4)	 jksfx;ksa dh lsok ls

105.	^txr* 'kCn gSµ
(1)	 'kCn µ ;qXe	 (2)	 fo'ks"k.k 'kCn
(3)	 lekukFkhZ 'kCn	 (4)	 vusdkFkhZ 'kCn
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106.	cPps lkekftd vUr%fØ;k ds ek/;e ls Hkk"kk vftZr djrs gSaA bl 
fopkj dk çfriknu fdlds }kjk fd;k x;k gS\
(1)	 fi;kts	 (2)	 okbxksRLdh
(3)	 pkWELdh	 (4)	 fLduj

107.	,d lkr ekg dh ckfydk O;atu vkSj Lojksa dk ç;ksx djrs gq, 
vkoktsa fudkyrh gSA mlds lEçs"k.k dks D;k dgk tk,xk\
(1)	 Hkkf"kd okd~	 (2)	 dwtu (dwf;ax)
(3)	 Lofue	 (4)	 ccykuk

108.	fuEufyf[kr esa ls fdls lqfu;ksftr ckrphr dgk tk,xk\
(1)	 lajfpr	 (2)	 vYi
(3)	 nh?kZ	 (4)	 ;kn`fPNd

109.	fo|kFkhZ ikB;lkexzh ds fHkUu&fHkUu Hkkxksa dks lqurs ;k i<+rs gSa] 
mlds i'pkr~ dk;Z iwjk djus ds fy, nwljksa ds lkFk lwpuk dk 
vknku&çnku djrs gSa] bls D;k dgrs gSa\
(1)	 çokg esa cksyk x;k Jqrys[k	(2)	 la;qDr Jqrys[k
(3)	 ftxlkW Jqrys[k	 (4)	 vkaf'kd Jqrys[k

110.	,d Hkk"kk v/;kid ds laKku esa ;g ckr vkbZ fd d{kk lkr ds 
fo|kFkhZ dks dgkuh dks iqu% dgus esa dfBukbZ vk jgh gSA mlds 
dFku esa çokg ugha gS vkSj d{kk esa ftu 'kCnksa ij ppkZ dh xbZ Fkh] 
og mu 'kCnksa dks Hkh le> ugha ik jgk gSA Hkk"kk laca/kh bl fodkj 
dks D;k dgrs gSa\
(1)	 fMLQsft;k	 (2)	 fMLxzkfQ;k
(3)	 fMLçsfDl;k	 (4)	 fMLdSydqfy;k

111.	,d v/;kfidk çR;sd l= ds var esa vius fo|kfFkZ;ksa dk Hkk"kk 
dkS'kyksa dk ijh{k.k djrh gSaA blls mls fdl rjg dh lgk;rk 
feysxh\
(1)	 fo|kfFkZ;ksa dh Hkkf"kd fuiq.krk dk vkdyu djus esaA
(2)	 Hkk"kk lh[kus ds çfr mudh vfHk#fp dk ekiu djus esaA
(3)	 mUgsa vad nsus esaA
(4)	 ikB;p;kz ds mís'; fu/kkZfjr djus esaA

112.	Hkk"kk dh d{kk esa vkdyu fd;k tkuk pkfg, ---------A
(1)	 ;g tkuus ds fy, fo|kfFkZ;ksa us ikB ls lacaf/kr ç'uksa ds mÙkj 

;kn fd, gSa ;k ughaA
(2)	 f'k{k.k&vf/kxe&çfØ;k ds nkSjku fd;k tkuk pkfg,A
(3)	 ;g tkuus ds fy, fd v/;kid i<+kus esa fdruk fuiq.k gSA
(4)	 ikB iwjk gksus ds i'pkr~ fd;k tkuk pkfg,A

113.	dksM feJ.k vkSj dksM ifjorZu ds ckjs esa dkSu&lk dFku lgh gS\
(1)	 dksM feJ.k og gS tc dksbZ ,d gh okrkZyki esa nks ;k vfèkd 

Hkk"kkvksa dk fodYi ds :i esa bLrseky djrh gS tcfd dksM 
ifjorZu og gS tc dksbZ ,d Hkk"kk ls dksbZ ,d 'kCn ;k 
okD;ka'k cksyrh gS vkSj nwljk 'kCn ;k okD;ka'k nwljh Hkk"kk ls 
cksyrh gSA

(2)	 dksM feJ.k vkSj dksM ifjorZu ,d&nwljs ds i;kZ;okph gSaA
(3)	 dksM feJ.k og gS tc dksbZ ,d gh okrkZyki esa ,d Hkk"kk ls 

dksbZ ,d 'kCn ;k okD;ka'k rFkk nwljk 'kCn ;k okD;ka'k nwljh 
Hkk"kk ls cksyrh gS tcfd dksM ifjorZu og gS tc dksbZ nks ;k 
vf/kd Hkk"kkvksa dk fodYi ds :i esa bLrseyk djrh gSA

(4)	 dksM feJ.k vkSj dksM ifjorZu flQZ ,d Hkk"kk cksyus okyksa 
}kjk ç;qDr fd;k tkrk gSA

114.	fuEufyf[kr esa ls dkSu&lk dFku iBu vkSj ys[ku dkS'ky ds e/; 
laca/k dks n'kkZrk gS\
(1)	 ,d cPpksa tks fy[k ugha ldrh] og i<+ Hkh ugha ldrhA
(2)	 iBu vkSj ys[ku dkS'ky ,dhÏr@lekosf'kr gSaA

(3)	 iBu vkSj ys[ku i`Fkd&i`Fkd fl[kkuk pkfg,A
(4)	 ;fn dksbZ ckyd buesa ls fdlh ,d dkS'ky esa vPNk gS rks 

fuf'pr :i ls og nwljs esa Hkh vPNk gksxkA

115.	,d v/;kid fo|kfFkZ;ksa dks js[kkafdr 'kCnksa ds LFkku ij lgh 
fodYi nsus ds fy, dgrh gSA og fdl dkS'ky dk vkdyu ugha 
dj jgh gS\
(1)	 Jo.k (/;ku ls)	 (2)	 ys[ku
(3)	 iBu	 (4)	 lquuk

116.	çfØ;k vk/kkfjr ys[ku mikxe ds pj.k dkSu&ls gSa\
(1)	 ys[kuiwoZ&çk:i.k&la'kks/ku&laiknu&çdk'ku
(2)	 ys[kuiwoZ&la'kks/ku&laiknu&ys[ku&çdk'ku
(3)	 ys[ku&laiknu&la'kks/ku&ys[ku&çdk'ku	
(4)	 ys[ku&la'kks/ku&ys[kuiwoZ&laiknu&çdk'ku

117.	fof'k"V rF;ksa dks tkuus ds fy, fd;k x;k iBu D;k dgykrk gS\
(1)	 ckjhdh ls iBu	 (2)	 ljljh rkSj ij iBu
(3)	 fMdksfMax	 (4)	 foLr`r iBu

118.	d{kk esa lkekftd Hkk"kk dks leqUur djus ds fy, v/;kid dks 
D;k djuk pkfg,\
(1)	 fo|kfFkZ;ksa dks cky fnol dh fjiksVZ fy[kus ds fy, dgsaA
(2)	 fo|kfFkZ;ksa dks ,d&nwljs ds lkFk vUr%fØ;k djus ds volj 

nsaA
(3)	 fo|kfFkZ;ksa dks vius tUefnu ij vkeaf=r djus ds fy, ,d 

fueU=.k i= cukus ds fy, dgsaA
(4)	 fo|kfFkZ;ksa dks ikB; lkexzh dk lkjka'khdj.k djus ds fy, 

dgsaA

119.	v/;kfidk us f'k{kkfFkZ;ksa dksa d{kkiqLrdky; ls dgkuh dh iqLrd 
pquus vkSj O;fDrxr :i ls i<+us ds fy, dgkA og fdl rjg ds 
iBu dks leqUur djuk pkgrh gSa\
(1)	 rhoz iBu	 (2)	 foLr`r iBu
(3)	 lekykspukRed iBu	 (4)	 lgHkkxh iBu

120.	d{kk Ng dh v/;kfidk viuh d{kk esa cPpksa dh orZuh vkSj 
fojke&fpg~u fo/kku esa lq/kkj ykus ds fy, fofHkUu xfrfof/k;k¡ 
djokrh gSaA blls fo|kfFkZ;ksa dks fdl rjg dh enn feysxh\
(1)	 çokg dk lao¼Zu gksxkA
(2)	 Jo.k dkS'kyksa dk lao¼Zu gksxkA
(3)	 lVhdrk esa lq/kkj gksxkA	
(4)	 'kCn&laink esa lq/kkj gksxkA

Language: English
Directions (121-129): Read the passage given below and 
answer the question/complete the statements that follow by 
choosing the correct out of the given ones.
	 On the night of the day on which this cruel deed 
was done, I was aroused from sleep by the cry of fire. 
The curtains of my bed were in flames. The whole 
house was blazing, It was with great difficulty that my 
wife, a servant, and myself, made our escape from the 
conflagration. The destruction was complete. My entire 
worldly wealth was swallowed up, and I resigned myself 
thenceforward to despair.
	 I am above the weakness of seeking to establish a 
sequence of cause and effect between the disaster and 
the atrocity. But I am detailing a chain of facts- and wish 
not to leave even a possible link imperfect. On the day 
succeeding the fire, I visited the ruins.
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The walls, with one exception, had fallen in, This 
exception was found in a compartment wall, not very 
thick, which stood about the middle of the house and 
against which had rested the head of my bed. The 
plastering had here, in great measure, resisted the action 
of the fire-a fact which I attributed to its having been 
recently done.
	 About this wall a dense crowd had collected, and 
many persons seemed to be examining a particular 
portion of it with very minute and eager attention. The 
words, 'strange' ! 'singular !' and other similar expressions, 
excited my curiosity. I approached and saw, as if etched in 
bas relief upon the white surface, the figure of a gigantic 
cat. The impression was given with an accuracy truly 
marvellous. There was a rope about the animals' neck.
121.	The narrator was sorry because :

(1)	 his house had caught fire.
(2)	 he had to resign.
(3)	 he had to shift to a new house.
(4)	 he had to buy new curtains.

122.	Study the following statements :
(a)	 The narrator was keen to know the cause of the 

fire.
(b)	 The fire reduced him to poverty.
(1)	 (a) is true and (b) is false.
(2)	 (b) is true and (a) is false.
(3)	 Both (a) and (b) are true.
(4)	 Both (a) and (b) are false.

123.	Which of the following statements is TRUE ?
(1)	 Fear of being burnt made the narrator wake up.
(2)	 His servant helped his wife to escape.
(3)	 Only a part of his wealth was saved.
(4)	 A thin wall divided the house into two parts.

124.	Which of the following statements is NOT TRUE ?
(1)	 The narrator wants to describe all the facts in 

details.
(2)	 Only one wall remained safe.
(3)	 The narrator used to sleep with his head towards 

the wall.
(4)	 This wall saved the narrator's life.

125.	Study the following statements :
(a)	 A number of people came to console the narrator.
(b)	 They wanted to know the cause of the fire.
(1)	 (a) is right and (b) is wrong.
(2)	 (b) is right and (a) is wrong.
(3)	 Both (a) and (b) are right.
(4)	 Both (a) and (b) are wrong.

126.	Study the following statements :
(a)	 The people were shocked at the damage caused 

by the fire.
(2)	 The narrator felt curious at the excitement of the 

people.
(c)	 From the wall a cat was glaring at the people.
(1)	 (a) is right and (b) is wrong.
(2)	 (b) is right and (c) is wrong.
(3)	 (c) is right and (a) is wrong.
(4)	 Both (a) and (b) are right.

127.	'..... With one exception' ....
	 The word exception means the same as :

(1)	 oddity	 (2)	 preference
(3)	 acceptance	 (4)	 absence

128.	'On the day succeeding the fire ........'
	 The word opposite in meaning to the underlined 

word is :
(1)	 following	 (2)	 failing
(3)	 preceding	 (4)	 seeking

129.	'The plastering had here ....'
	 The underlined word is a/an ............. .

(1)	 Verb	 (2)	 Noun
(3)	 Adjective	 (4)	 Interjection

Directions (130-135): Read the extract given below and 
answer the question/complete the statements that follow by 
choosing the most appropriate options out of the given ones.
	 Is this a holy thing to see
	 In a rich and fruithful land,
	 Babes reduced to misery,
	 Fed with cold and usurous hand ?
	
	 Is that trembling cry a song ?
	 Can it be a song of joy ?
	 And so many children poor ?
	 It is a land of poverty !
	
	 And their sun does never shine,
	 And their fields are bleak and bare,
	 And their ways are fill'd with thorns ;
	 It is eternal winter there.
	 For where-e'er the sun does shine,
	 And where-e'er the rain does fall,
	 Babe can never hunger there,
	 Nor poverty the mind appall.
130.	The poem :

(1)	 is a song of joy.	
(2)	 is a voice of protest.
(3)	 describe the glory of God.
(4)	 makes an appeal to God.

131.	The irony prevalent throughout the poem is that :
(1)	 Children in a rich country are hungry.
(2)	 There is no love for children here.
(3)	 Children are singing in a trembling voice.
(4)	 In a poor country so many children are poor.

132.	'their ways are filled with thorns.'
	 The figure of speech used here is a :

(1)	 Simile	 (2)	 Metaphor
(3)	 Personification	 (4)	 Metonymy

133.	'It is eternal winter here' actually means :
(1)	 It is a very cold country.
(2)	 Nothing grows in the fields.
(3)	 Children enjoy the snowfall all the year round.
(4)	 People are uncaring and callous.

134.	'Usurous hand' means :
(1)	 miserly nature	 (2)	 a sympathetic heart
(3)	 a thrifty person	 (4)	 a useful person

135.	The child in the poem is :
(1)	 singing a happy song.
(2)	 playing in a rich and fruitful garden.
(3)	 leading a miserable life.
(4)	 suffering from cold.

136.	Children acquire language through social interaction. 
This idea is supported by :
(1)	 Piaget	 (2)	 Vygotsky
(3)	 Chomsky	 (4)	 Skinner
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137.	A 7 months old child makes vocalisations using 

consonants and vowels. He is communicating using:
(1)	 linguistic speech	 (2)	 cooing
(3)	 phonemes	 (4)	 babbling

138.	............... talk is considered as a well organized talk.
(1)	 Structured	 (2)	 Short
(3)	 Long	 (4)	 Random

139.	Students hear or read different parts of the text, then 
exchange information with others to complete the task.
(1)	 Running dictation	 (2)	 Composition dictation
(3)	 Jigsaw dictation	 (4)	 Partial dictation

140.	A language teacher notices that her class 7 student 
has a difficulty in retelling a story, his speech is not 
fluent and he unable to understand the meaning of 
words discussed in class. This language disorder is 
referred to as :
(1)	 Dysphasia	 (2)	 Dysgraphia
(3)	 Dyspraxia	 (4)	 Dyscalculia

141.	A teacher tests the students in language skills at the 
end of each semester. This will help her to :
(1)	 Assess students' language proficiency	
(2)	 Measure their aptitude for learning the language
(3)	 Assign scores to them	
(4)	 Define curricular objective

142.	Assessment in the language class must be conducted:
(1)	 to know whether they have learnt the answers of 

the questions related to the text.
(2)	 during the teaching learning process
(3)	 to know how efficient is the teacher to teach
(4)	 only after the text is complete

143.	Which of the following statement is true for code 
mixing and code switching ?
(1)	 Code mixing is when someone alternates two or 

more languages in same conversation while Code 
switching is when someone used one word or 
phrase from one language to another language.

(2)	 Code mixing and code switching are synonymous 
to each other.

(3)	 Code mixing is when someone uses one word or 
phrase from one language to another language 
while code switching is when someone alternates 
two or more languages in same conversation. 

(4)	 Code mixing and code switching is done only by 
monolinguals.

144.	Which of the following statement reflect the relation 
between reading and writing skill ?
(1)	 A child who can't write also can't read.
(2)	 Reading and writing skill are integrated.
(3)	 Reading and writing should be taught separately.
(4)	 If a child does well in one of these skills he will 

definitely do well in other.
145.	A teacher asks the students to replace the underlined 

word with the correct option. Which skill is NOT 
being assessed by her ?
(1)	 Listening	 (2)	 Writing
(3)	 Reading	 (4)	 Hearing

146.	Steps process writing approach are :
(1)	 Prewrite-Draft-Revise-Edit-Publish
(2)	 Prewrite-Revise-Edit-Write-Publish
(3)	 Prewrite-Edit-Revise-Write-Publish
(4)	 Write-Revise-Prewrite-Edit-Publish

147.	Reading to find specific facts is :
(1)	 Scanning	 (2)	 Skimming
(3)	 Decoding	 (4)	 Extensive reading

148.	To promote the social language in class a teacher :

(1)	 asked the learner to write a report on children's 
day.

(2)	 gave the learners the opportunity to interact 
with peers.

(3)	 asked the learners to write an invitation letter for 
her birthday.

(4)	 asked the learner to summarize the given text.
149.	Teacher asked the learners to choose the story books 

from the classroom library and read individually. 
She wants to promote :
(1)	 Intensive reading	 (2)	 Extensive reading
(3)	 Critical reading	 (4)	 Shared reading

150.	A class-6 teacher conducts various activities in her 
class to improve spellings and punctuations. This 
will help her students to :
(1)	 enhance their fluency
(2)	 enhance their listening skills
(3)	 improve their accuracy
(4)	 improve their vocabulary
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1.	 Option (3) is correct.
Explanation: Development varies 
from person to person due to factors 
such as genetics, environment, 
and experiences. Individuals may 
achieve developmental milestones 
at different rates, making it evident 
that development is not uniform. 
This variation in the pace and pattern 
of development is what leads to 
the understanding that there are 
individual differences in how people 
grow and progress.

2.	 Option (3) is correct.
Explanation: A is true, as the 
provision of distributing mid-day 
meals in schools ensures meeting the 
nutritional values of students. The 
mid-day meal was launched with the 
aim that at least one balanced diet is 
provided, especially to students who 
belong to low-income families as 
their families are unable to provide 
adequate nutritional food for them.
R is false, Along with heredity, 
environmental factors play a crucial 
role in an individual life. This includes 
physical emotional, cognitive, and 
social developments.

3.	 Option (4) is correct.
Explanation: Be an extension of 
the family and build upon the 
things child is familiar with. School 
is a place designed to provide an 
adequate learning environment 
for effective teaching-learning 
process. It is a miniature society 
where children learn by interacting 
with their environment. Schools 
are considered as a centre for 
socialization and their primary 
function as an agent of society 
is to provide children with an 
understanding of their environment 
to help them to adapt the social 
order.
Other Functions of School as an 
Agent of Society:
n	Helping learners acquire values, 

norms, and traditions.

n	Making learners able to learn the 
importance of social cohesion and 
unity.

n	Instilling informal cues about 
social roles in learners through 
interaction.

Hence it could be concluded that the 
primary function of the school as an 
agent of society is to provide children 
with an understanding of their 
environment.

4.	 Option (1) is correct. 

Explanation: According to Piaget's 
Theory of Cognitive Development, 
assimilation, accommodation, and 
equilibrium are the ways through 
which children integrate new expe-
riences into their already existing 
cognition structures (schema).
Assimilation is referred to:

n	process of taking in information 
into our previously existing 
schemas.

n	the way an individual takes and 
interprets new information using 
pre-existing mental structures 
without necessarily modifying 
them.

n	addition of a new concept or 
experience into an existing 
schema. For example, the baby's 
sucking of thumb is an initial 
schema.

Accommodation is referred to:

n	altering existing ideas or schemas 
as a result of new experiences.

n	adjusting to new ways of 
thinking and behaving by making 
modifications in one's existing 
cognitive structures.

n	revising of an existing schema 
to suit the new experience. For 
example, the baby modifies the 
way it sucks to include sucking on 
a new toy.

Therefore, it becomes clear that 
according to Jean Piaget, the process 
of developmental change takes 
place through assimilation and 
accommodation.

5.	 Option (2) is correct.
Explanation: Cognitive development 
involves processes such as knowing, 
thinking, remembering, recognizing, 
categorizing, imagining, reasoning, 
decision-making, and so forth. 
According to Piaget, children’s 
understanding of the world expands 
as they experience new ideas and 
challenges. Children construct their 
knowledge through interactions 
with their surroundings. Cognitive 
development proceeds as children 
mature. Piaget divided cognitive 
development into four stages.
n	Sensorimotor (Birth – 2 years) & 

Preoperational (2-7 years)
n	Concrete Operational (7-11 years) 

& Formal Operational (11 years 
and above)

6.	 Option (2) is correct.
Explanation: According to Lawrence 
Kohlberg's theory of moral develop-
ment, the pre-conventional level is 
the first stage of moral reasoning. At 
this level, individuals base their moral 
judgments on the consequences of 
their actions. They view actions as 
morally right if they lead to positive 
outcomes or rewards, and morally 
wrong if they lead to negative 
consequences or punishment. This 
stage is primarily concerned with self-
interest and a simple understanding 
of authority and obedience. The 
focus on obeying or disobeying 
rules based on their consequences 
is a characteristic feature of the pre-
conventional level.

7.	 Option (2) is correct.
Explanation: Vygotksy's sociocultural 
theory emphasizes the importance of 
social interaction and cultural context 
in cognitive development. According 
to this theory, a teacher who believes 
in Vygotksy's ideas would encourage 
interaction and dialogue among 
students to promote collaborative 
learning. Additionally, the teacher 
would provide scaffolding, which 
involves offering support and 
guidance to students as they work 
on tasks that are slightly beyond 
their current level of understanding. 
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This approach helps students 
build their skills and knowledge by 
providing assistance when needed 
and gradually reducing it as they 
become more capable. This is in 
contrast to simply offering rewards 
or punishments to regulate behavior 
or focusing solely on forming 
associations between stimuli and 
responses.

8.	 Option (2) is correct. 
Explanation: The gap between what 
the child can do independently and 
with assistance. 'Lev Vygotsky', a 
Soviet psychologist, has propounded 
the "Socio-cultural Theory". This 
theory implies the idea that social 
interaction plays a crucial role in the 
development of learners' cognitive 
ability.
According to Vygotsky, 'zone of 
proximal development' or 'ZPD' 
refers to the:
n	the gap between what the child 

can do independently and with 
assistance.

n	difference between what a learner 
can do on his/her own and what 
he/she can do with someone's 
help.

n	range of tasks too difficult for the 
child to do alone, but possible with 
the help of adults and more skilled 
peer.

n	distance between learners' actual 
development level and his/her 
level of development under 
someone's guidance.

9.	 Option (3) is correct. 
Explanation: Emphasis only on 
course completion with a structured 
curriculum. The child-centred 
education places learners at the 
centre and gives primacy to child's 
experiences and needs. It strongly 
believes that when children are 
given the freedom to work at their 
own pace, they develop the ability to 
assimilate concepts efficiently.
Characteristics of the child-centred 
teaching and learning:
n	It stresses the importance 

of enquiry, observation and 
investigation.

n	It takes into account learner's 
capabilities, capacities and 
learning styles.

n	It uses methods like experiential 
learning, problem-solving, 
concept mapping and creative 
writing.

n	It emphasises providing ample 
opportunities for children to foster 
their own strategy of learning to 
perform a task.

n	In this method, teachers 
facilitate students as a facilitator 
by providing with proper 

environment and materials to 
learn at their own pace.

n	Students work in flexible, 
cooperative groupings to solve 
problems to demonstrate an 
understanding of the task 
that ensures their holistic 
development.

10.	 Option (1) is correct. 
Explanation: Are not Culturally 
fair. Intelligence refers to the 
capacity to acquire and apply 
knowledge. It is the ability to solve 
problems, learn from experiences, 
and apply knowledge to deal with 
new situations. “IQ” stands for 
“intelligence quotient.” A person's IQ 
is a score derived from standardized 
tests that were designed to measure 
human intelligence and intellectual 
potential. IQ tests include a variety 
of questions that measure reasoning 
and problem-solving skills.

11.	 Option (2) is correct.
Explanation: The print-rich environ-
ment in the classroom: 
n	A print-rich environment is one 

where young children get many 
different opportunities to interact 
with many different forms of 
print. 

n	That is, in order to be truly print-
rich, a classroom needs to display 
and use print meaningfully during 
teaching and learning. 

n	This exploration of print in 
meaningful contexts and 
observing adults around the 
use of print is critical for literacy 
development because it shows 
children that print carries meaning 
and that reading and writing serve 
real, everyday purposes. 

n	Over time, children become 
motivated to try to read and write 
themselves and they can develop 
language.  

n	“A print-rich environment is one 
in which “children interact with 
many forms of print, including 
signs, labelled centers, wall 
stories, word displays, labelled 
murals, bulletin boards, charts, 
poems, and other printed 
materials. 

n	A print-rich environment in a 
primary classroom is essential 
for the language development of 
children.

12.	 Option (3) is correct. 
Explanation: Assertion (A) is true, as 
research suggests that children often 
learn gender-appropriate behaviors 
by observing and imitating same-sex 
adults. However, Reason (R) is false, 
as gender is not solely a biological 
construct. It is a complex interplay 
between biology, culture, society, 
and personal identity. Gender roles 
and behaviors are influenced by a 

combination of biological, social, 
and environmental factors, not just 
biology alone.

13.	 Option (2) is correct.
Explanation: Interacting with a 
diverse group of students requires 
self-awareness. Reflecting on one's 
own stereotypes and biases helps 
the teacher avoid unintentional 
discrimination or favoritism, leading 
to a more inclusive and respectful 
learning environment. This approach 
ensures that the teacher treats all 
students fairly and acknowledges 
their individual backgrounds and 
experiences.

14.	 Option (1) is correct.
Explanation: Holistic and continuous 
assessment focuses on evaluating 
a student's overall development 
and progress over time, taking into 
account various aspects of their 
learning journey. This approach 
considers multiple dimensions such 
as skills, knowledge, and attitudes. 
It provides a more comprehensive 
understanding of a student's 
abilities compared to isolated 
exams or standardized testing. 
Continuous assessment involves 
ongoing observations, projects, 
discussions, and various forms 
of evaluation that contribute to a 
more accurate representation of a 
student's capabilities. This approach 
is student-centered and aligns with 
modern educational philosophies 
emphasizing individual growth and 
learning process understanding.

15.	 Option (2) is correct.
Explanation: Critical thinkers are 
known for their ability to analyze 
information, evaluate evidence, 
and think independently. They 
do not simply follow instructions 
blindly; instead, they engage in 
questioning, reasoning, and examin-
ing multiple perspectives. They 
seek to understand and evaluate 
information critically before making 
judgments or decisions. Open-
mindedness, inquisitiveness, asking, 
clarifying questions, and assessing 
the credibility of sources are all 
characteristics commonly associated 
with critical thinking.

16.	 Option (3) is correct.
Explanation: Universal Design for 
Learning (UDL) is an educational 
framework that promotes flexible 
learning environments and instruc-
tional strategies that accommodate 
the diverse needs of students. UDL 
aims to provide multiple means 
of representation, expression, and 
engagement to address different 
learning styles, abilities, and 
preferences. It encourages educators 
to create inclusive classrooms where 
all students can access and participate 
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in learning activities effectively, 
regardless of their individual needs. 
By incorporating UDL principles, 
educators can design instruction and 
materials that are flexible, adaptable, 
and responsive to the unique needs 
of each child, promoting equity and 
inclusivity in the learning environ-
ment.

17.	 Option (4) is correct.
Explanation: Multicultural educa-
tion is an approach that recognizes 
and values the diverse cultural 
backgrounds, experiences, and 
perspectives of students. It aims to 
promote understanding, respect, 
and inclusion among all students. 
Creating a classroom ethos where 
every child feels a sense of belong-
ing is a fundamental aspect of 
multicultural education. It involves 
fostering an inclusive and supportive 
environment that celebrates and 
appreciates the cultural diversity 
within the classroom. This can 
be achieved through activities, 
discussions, and learning experien-
ces that promote cultural awareness, 
empathy, and cross-cultural under-
standing. By creating an inclusive 
classroom environment, teachers can 
help students develop a positive self-
identity, appreciate diversity, and 
engage in meaningful interactions 
with their peers from different 
cultural backgrounds.

18.	 Option (1) is correct.
Explanation: Autism, or Autism 
Spectrum Disorder (ASD), is a 
neurodevelopmental disorder 
characterized by challenges in social 
interaction, communication, and 
repetitive behaviors or interests. 
Repetitive motor actions, also known 
as stereotypic or repetitive move-
ments, are common in individuals 
with autism. These movements can 
include hand flapping, body rocking, 
or spinning objects. Difficulty 
making friends or engaging in social 
interactions is another hallmark of 
autism. Despite having strengths 
in certain areas, such as attention to 
detail, individuals with autism often 
face challenges in understanding and 
responding to social cues and building 
peer relationships. It is important to 
note that a proper assessment by a 
qualified professional is necessary to 
diagnose autism accurately.

19.	 Option (3) is correct.
Explanation: Assistive technology 
refers to devices, equipment, or 
systems that are designed to enhance 
the abilities and independence of 
individuals with disabilities. In the 
case of hearing impairment, one 
example of assistive technology is 
a sound amplifier or hearing aid. 
Sound amplifiers are electronic 
devices that are worn in or behind 

the ear to amplify sound and make 
it easier for individuals with hearing 
loss to hear and communicate.
The other options you mentioned 
are not specifically designed to aid 
hearing:
(1)	 Braille system: This is a 

tactile writing system used by 
individuals who are blind or 
visually impaired to read and 
write. It is not directly related to 
hearing impairment.

(2)	 Walking stick: A walking stick, 
also known as a cane, is primarily 
used for individuals with visual 
impairments to navigate their 
surroundings. It is not directly 
related to hearing impairment.

(4)	 Eyeglasses: Eyeglasses are used 
to correct vision problems and 
are not designed for aiding 
hearing.

Therefore, the correct answer is (3) 
Sound amplifier, as it is specifically 
designed to assist individuals with 
hearing loss.

20.	 Option (1) is correct.
Explanation: The important 
characteristics of creativity among the 
options you provided are:
(i)	 Divergent thinking: Divergent 

thinking refers to the ability 
to generate multiple ideas, 
solutions, or possibilities when 
faced with a problem or a 
creative task. It involves thin-
king outside the box, exploring 
various perspectives, and gene-
rating a wide range of ideas.

(ii)	 Originality of ideas: Origina-
lity is an important aspect 
of creativity. It involves pro-
ducing novel, unique, and 
unconventional ideas or 
solutions that are not commonly 
found or replicated.

(iii)	 Flexibility: Flexibility in 
thinking allows individuals to 
adapt and modify their ideas 
or approaches when faced with 
new information, feedback, 
or changing circumstances. It 
involves being open to different 
perspectives, considering 
alternative options, and adjus-
ting one's thinking as needed.

Convergent thinking, listed as (iv), 
is not considered a characteristic 
of creativity. Convergent thinking 
is the ability to find a single, correct 
answer or solution to a problem. 
It typically involves logical and 
analytical thinking rather than the 
exploration of multiple possibilities 
and originality.
So, the correct characteristics of 
creativity among the options provi-
ded are:
(i)	 Divergent thinking
(ii)	 Originality of ideas
(iii)	 Flexibility

21.	 Option (1) is correct.
Explanation: Effective learning is 
facilitated when teachers design 
activities that take into account 
students' prior knowledge and 
experiences. Building on their 
existing understanding allows for 
meaningful connections to be made, 
promoting deeper learning and 
comprehension. This approach aligns 
with constructivist pedagogy, where 
new knowledge is constructed upon 
a foundation of prior knowledge. 

22.	 Option (4) is correct.
Explanation: Among the statements 
you provided about alternative 
conceptions among children, the 
most accurate one is statement (4): 
"Alternative conceptions are the naive 
theories that children construct about 
phenomena around them." This 
statement aligns with the concept of 
alternative conceptions or alternative 
frameworks in the field of cognitive 
development.
Alternative conceptions, also 
known as misconceptions or 
intuitive theories, are the ideas or 
explanations that children develop 
to make sense of the world around 
them. 

23.	 Option (2 & 3) is correct.
Explanation: Encouraging children 
to make intuitive guesses: Intuitive 
guessing can be a useful approach in 
problem solving, as it allows students 
to tap into their existing knowledge 
and make educated guesses. By 
encouraging students to trust their 
intuition and take risks, teachers can 
foster creativity and develop critical 
thinking skills.
(3) Writing step-by-step solutions 
to the problem: Providing step-by-
step solutions can be beneficial for 
students, particularly when they 
are first learning a new concept or 
skill. This approach helps students 
understand the logical progression 
of problem solving and provides 
a framework for tackling similar 
problems in the future. However, it is 
crucial for teachers to also encourage 
students to think independently 
and find alternative approaches or 
solutions, rather than relying solely 
on the provided steps.

24.	 Option (2) is correct.
Explanation: As a class teacher, it 
is important to adopt facilitative 
strategies that are supportive and 
helpful for an underachieving child. 
Out of the options you provided, 
option (2) would likely be the most 
useful approach. Here's why: it 
involves identifying the reasons for 
the student's underachievement 
and setting short-term, achievable 
goals. This approach allows the 
teacher to understand the individual 
needs and challenges of the student, 
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providing personalized support and 
guidance. By setting realistic goals, 
the student can experience a sense 
of accomplishment and gradually 
improve their performance.

25.	 Option (1) is correct.
Explanation: Dialogue is a pivotal 
activity for nurturing conceptual 
understanding in children. Through 
conversations, kids engage actively 
with ideas, pose queries, and delve 
into topics. This interactive approach 
encourages critical thinking, as they 
dissect concepts from various angles. 
Unlike passive lectures or rigid 
direct instruction, dialogue fosters 
a dynamic exchange of thoughts, 
letting children construct meaning 
collaboratively. This process aids in 
internalizing concepts and enhances 
retention. Overall, fostering a 
dialogic environment empowers 
children to grasp and apply complex 
ideas effectively, promoting genuine 
comprehension.

26.	 Option (3) is correct.
Explanation: Experiential learning, 
as per the National Education Policy 
2020, does not solely rely on the 
promotion of traditional bookish 
knowledge. It emphasizes the 
development of real and scientific 
understanding in students through 
experiences and experiments. 
Therefore, option (iii), which 
states that experiential learning is 
completely based on the promotion 
of traditional bookish knowledge, is 
incorrect.
Option (i), which suggests that 
experiential learning makes the 
teacher more active than the students, 
is also incorrect. Experiential learning 
encourages active participation and 
engagement from the students, as 
they are directly involved in hands-
on experiences and experiments.
Option (ii) correctly states that 
experiential learning helps in 
connecting past experiences to 
gaining new knowledge and the 
transfer of positive learning.
Therefore, the correct answer is (3) 
(iii), (iv).

27.	 Option (4) is correct.
Explanation: Excitement is an 
emotion that facilitates the process of 
meaningful learning. When students 
feel excited about a topic or activity, 
their engagement and motivation 
increase. This heightened emotional 
state promotes active participation, 
curiosity, and a desire to explore 
and understand the subject matter. 
Excitement triggers the brain's 
release of dopamine, which enhances 
attention and memory, leading to a 
more effective learning experience. 
Apart from it there are many 
emotions that facilitate the process of 
meaningful learning, these are—

n	Happiness
n	Hope
n	Pride
n	Curiosity
n	Enjoyment
Curiosity: The impulse/emotion 
or desire to investigate, observe, 
or gather information, particularly 
when the material is novel or 
interesting. It refers students to get 
the roots of the problem conceptually.

28.	 Option (4) is correct. 
Explanation: Children learn best 
through the process of guided 
discovery. Guided discovery is 
an instructional approach where 
educators facilitate learning 
by providing students with 
opportunities to explore concepts, 
solve problems, and draw 
conclusions on their own, under 
guidance. This approach encourages 
active engagement, critical thinking, 
and problem-solving skills. By 
allowing students to explore and 
uncover information themselves, 
guided discovery promotes a 
deeper understanding of concepts 
and enhances their ability to apply 
knowledge in various contexts. This 
learner-centered approach fosters 
a sense of ownership and curiosity, 
leading to more meaningful and 
lasting learning outcomes.

29.	 Option (3) is correct.
Explanation: The higher order 
ability that involves thinking about 
one's own thinking is option (3) 
Metacognition. Metacognition refers 
to the awareness and understanding 
of one's own cognitive processes, 
including knowledge about how 
to plan, monitor, and evaluate one's 
thinking and learning. It involves 
reflecting on one's own thoughts, 
assessing the effectiveness of 
strategies, and making adjustments 
to improve learning and problem-
solving.

30.	 Option (4) is correct.
Explanation: By considering 
students' interests: One of the most 
powerful ways to foster intrinsic 
motivation is by tapping into 
students' interests and incorporating 
them into the learning process. When 
teachers take the time to understand 
what topics, activities, or approaches 
engage their students, they can tailor 
their instruction to align with those 
interests. This creates a sense of 
autonomy, relevance, and personal 
investment, which are crucial for 
nurturing intrinsic motivation. When 
children find personal meaning and 
value in what they are learning, they 
are more likely to engage, persist, and 
develop a lifelong love for learning.

Mathematics and Science
31.	 Option (3) is correct.

Explanation: To find the largest four-
digit number, we subtract 1 from 
the smallest five-digit number. The 
smallest five-digit number is 10,000
So the largest four-digit number is 
		  10,000 – 1	 = 9,999
When we add 1 to this number, we get 
		  9,999 + 1	 = 10,000
which is the smallest 5-digit number.

32.	 Option (3) is correct.
Explanation: The teacher is trying to 
explain the commutative property.
The commutative property states that 
for addition and multiplication, the 
order of the numbers can be changed 
without affecting the result.
In this case, the teacher is demonstra-
ting that the order of the numbers can 
be swapped in addition (6 + 4 = 4 + 6) 
and multiplication (6 × 4 = 4 × 6) the 
results remain the same.
Therefore, the property being explai-
ned by the teacher is the commutative 
property.

33.	 Option (2) is correct.
Explanation: A prime number is a 
number greater than 1 that has no 
positive divisors other than 1 and 
itself. Let’s analyze the given options:
(1)	 1 : 1 is not a prime number 

because it only has one positive 
divisor, which is 1.

(2)	 2 : 2 is a prime number because it 
has exactly two positive divisors, 
1 and 2.

(3)	 9 : 9 is not a prime number 
because it has more than two 
positive divisors. In addition to 
1 and 9, it is also divisible by 3.

(4)	 4 : 4 is not a prime number 
because it has more than two 
positive divisors. In addition to 
1 and 4, it is also divisible by 2.

34.	 Option (2) is correct.
Explanation: Let the fraction be x.

	Reciprocal of the fraction	 =
1
x

According to question,
	 x × x	 = x²

	
x

x
2 1
÷

	
= 2

10
27

Or, 	 x² × x	 =
64
27

Or, 	 x³	 =
64
27

Or,	 x³	 � �
�
�

�
�
�

4
3

3

Or,	 x	 =
4
3

So,	 x	 = 1
1
3
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35.	 Option (2) is correct.

Explanation: To find the number that 
should be added to 0.01 to get 1.1, we 
can subtract 0.01 from 1.1 :
		  1.1 – 0.01	 = 1.09
Therefore, the number that should be 
added to 0.01 to get 1.1 is 1.09.
So, option (2) is correct.

36.	 Option (4) is correct.
Explanation: In algebraic operations, 
like terms are added or subtracted 
and unlike terms are typically left as 
they are in addition and subtrac-tion. 
However, when it comes to multi-
plication, both like and unlike terms 
can be multiplied together.

37.	 Option (2) is correct.
Explanation: Given,
Ratio of  age of Hari and Harry = 5 : 7
So, 		 Age of Hari	 = 5x years
		  Age of Harry	 = 7x years
After 4 years,
		  Age of Hari	 = (5x+4) years
		  Age of Harry	 = (7x+4) years
According to question,

		

5 4
7 4

x
x
+
+ 	

= 
3
4

To solve this equation, we can cross-
multiply:
		  4(5x + 4)	 = 3(7x + 4)
		  20x + 16	 = 21x + 12
		  20x – 21x	 = 12 – 16
		  –x	 = –4
		  x	 = 4
Now we can find the present ages of 
Hari and Harry:
	 Present age of Hari	 = 5x
		  = 5(4)
		  = 20 years
	 Present age of Harry	 = 7x
		  = 7(4)
		  = 28 years

38.	 Option (2) is correct.
Explanation: Let’s assume the digit in 
the tens place as “x” and the digit in 
the unit place as “y”.
According to the given information, 
the digit in the tens place exceeds the 
digit in the unit place by 4, which can 
be represented as:
		  x – y	 = 4� ...(1)

The sum of the digits is 1
7

of the 
number, which 

means:

		  x + y
	

= 
1
7

10� �( )x y
�

...(2)

To simplify equation 2, we can 
multiply both sides by 7:
		  7(x + y)	 = 10x + y
		  7x + 7y	 = 10x + y
Or,		  7x – 10x	 = y – 7y
Or,		  –3x	 = –6y
		  –3x + 6y	 = 0� ...(3)
Now, 
		  x – y	 = 4� ...(1)
		  –3x + 6y	 = 0� ...(3)

Multiplying (1) by 3 and adding (1) 
+ (3)
		  3x – 3y	 = 12
		  –3x + 6y	 = 0
		  0 + 3y	 = 12
Or,		  3y	 = 12

Or,		  y	 =
12
3

So, 		 y	 = 4
Putting value of y in (1) ,
		  x – y	 = 4
Or,		  x – 4	 = 4
Or, 		 x	 = 4+4
So,		  x	 = 8

39.	 Option (2) is correct.
Explanation: To find the simple inter-
est (x) on ₹30,000 at 15% per annum 
for 3 years, we can use the formula:
Simple Interest (x)

	
= 

Principal × Rate × Time
100

Putting x in the given values: 

		
= 

30000 15 3
100
× ×

	 x	 = 13500
So, 
	Simple interest	= ₹13500
Now, let’s calculate the value of  
2x + 50
Or,	 2x + 50	 = 2 × 13500 + 50
So,	 2x + 50	 = 27000 + 50
	 2x + 50	 = 27050
Therefore, the value of 2x + 50 is 
27050.

40.	 Option (2) is correct.
Explanation: 

( )( )
( )

4 12 9
2 3

2 2

2
x x ax bx

x x
� � �

�

�
� � � �

�
( ){ ( )}

{ ( )}
4 6 6 9

2 3

2x x x x ax b
x x

�
� � � �

�
{ ( ) ( )} { ( )}

( )
2 2 3 3 2 3

2 3
x x x x ax b

x x
 

	

�
� � �

�
( ) ( ) ( )

( )
2 3 2 3

2 3
x x x ax b

x x
  

Cancelling (2x – 3) and x from numer-
ator and denominator,
			   = (2x – 3)(ax + b)
			   = (ax + b)(2x – 3)

41.	 Option (3) is correct.
Explanation: Let’s calculate the 

value 

of
 

x y z� ��
�
�

�
�
�2

2

�
� �( )x y z 2

22  using 
the given information:
A hexagonal pyramid has 1 base, 6 
triangular faces, 6 edges on the base 
and 6 edges along the triangular faces.
The number of faces (x) = 1 (base) + 6 
(triangular faces) = 7.
The number of edges (y) = 6 (edges 
on the base) + 6 (edges along the 
triangular faces) = 12.

The number of vertices (z) = 6 
(vertices on the base) + 1 (apex) = 7.
Now, let’s substitute these values into 
the given expression:

	

( )x y z+ + 2

22 	
= 

( )7 12 7
2

2

2
+ +

			 
= 

( )26
4

2

= 
676
4

			 
= 

338
2

Therefore, the value of ( )x y z+ + 2

22  
is 169.

42.	 Option (1) is correct.
Explanation: To construct a triangle, 
the sum of the lengths of any two 
sides must be greater than the length 
of the third side.
In this case, the sides are given as (2p – 
1) cm, (2p + 1) cm and 12 cm.
So,	 (2p – 1) + (2p + 1)	 > 12
Or, 	 2p – 1 + 2p + 1	 > 12
So,	 4p	 > 12

Or,	 p	 >
12
4

	 p	 > 3
Therefore, p must always be greater 
than 3 in order to construct the 
triangle.

43.	 Option (3) is correct.
Explanation: A right angle measures 
90°. To find four and two-thirds of a 
right angle, we can calculate:

4 and 2
3  

× 90°

First, let’s convert the mixed fraction 
into an improper fraction:

		  4 and 
2
3 	

=  = 
( )3 4 2

3
14
3

� �

Now, let’s multiply 14
3  

by 90°:

		

14
3

90�
�
�

�
�
�� �

	
= 

( )14 90
3
� �

 

			 
= 

1260
3
°

			   = 420°
Therefore, four and two-thirds of a 
right angle measures 420°.

44.	 Option (2) is correct.
Explanation: In a rectangle, opposite 
sides are equal and parallel. Each 
angle of rectangle is of 90°. Diagonals 
bisect each other but not at right 
angle.
In a square, all the properties of a 
rectangle are also applicable. Since a 
square is a special type of rectangle 
where all sides are equal, the diagonals 
of a square are perpendicular as well.
On the other hand, in a rhombus, the 
diagonals are always perpendicular 
to each other. A rhombus has opposite 
angles that are equal but they are not 
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right angles in general. Therefore, 
the diagonals of a rhombus are not 
always equal.
In a parallelogram, the diagonals are 
not guaranteed to be perpendicular. 
A parallelogram has opposite sides 
that are parallel but the angles 
are not necessarily right angles, 
so the diagonals are not always 
perpendicular.
Therefore, the quadrilaterals in which 
the diagonals are perpendicular 
to each other are specifically the 
rhombus and the square.

45.	 Option (3) is correct.
Explanation: A line of symmetry is an 
imaginary line that divides a figure 
into two equal halves, such that each 
half is a mirror image of the other.
l	 An isosceles triangle can have 

a line of symmetry whereas an 
equilateral triangle, where all sides 
and angles are equal has three 
lines of symmetry.

l	 A kite can have one line of 
symmetry, which is the line 
joining the midpoints of its non-
parallel sides.

l	 A parallelogram can’t a line of 
symmetry but it has a rota-tional 
symmetry. When the parallelo-
gram is rotated by 180°, the same 
figure is obtained.

l	 A circle has infinite lines of sym-
metry passing through its center, 
but no single line divides it into 
two equal mirror image halves.

l	 Therefore, the correct answer is (3) 
Parallelogram.

46.	 Option (3) is correct.
Explanation: The volume of a cube is 
given by the formula V = s3, where s 
is the length of one side of the cube.
Let’s assume the side lengths of the 
two cubes are s1 and s2, respectively.
According to the given information, 
the volumes of the cubes are in the 
ratio 27 : 64, which can be expressed 
as
		  (s1

3) : (s2
3)	 = 27 : 64.

Taking the cube root of both sides of 
the equation, we have
		  s1 : s2	 = 3 : 4.
The surface area of a cube is given by 
the formula A  =  6s2, where s is the 
length of one side of the cube.
Now, the ratio of their total surface 
areas:
		  (s1

2) : (s2
2)	 = (32) : (42)

			   = 9 : 16.
Since the total surface area is 
proportional to the square of the side 
length, the ratio of their total surface 
areas is the square of the ratio of their 
side lengths.
Therefore, the correct ratio of their 
total surface areas is
		  (32) : (42)	 = 9 : 16.

47.	 Option (3) is correct.
Explanation: The area of a rectangle 
is given by the formula A = length 
× width, and the area of a square is 
given by the formula A = side2.
Let’s denote the width of the 
rectangle as w.
According to the given information, 
the area of the rectangle with length 
18 cm is equal to the area of the square 
with side 12 cm:
		  18w	 = 122

		  18w	 = 144
Dividing both sides of the equation 
by 18, we get:
		  w	 = 8
Therefore, the width of the rectangle 
is 8 cm.
The perimeter of a rectangle is given 
by the formula
		  P	 = 2(length + width).
Substituting the values, we have:
		  P	 = 2(18 + 8)
			   = 2(26)
			   = 52 cm
Hence, the perimeter of the rectangle 
is 52 cm.

48.	 Option (1) is correct.
Explanation: To find the area of a 
trapezium, we can use the formula:

	 Area	 = �1
2  

× Sum of parallel sides

� ×height
In this case, the trapezium has non-
parallel sides of length 20 cm each, a 
height of 16 cm and a perimeter of 104 
cm.
Let’s denote the lengths of the parallel 
sides as a and b.
Since the perimeter of a trapezium is 
the sum of all its sides:
		  a + b + 20 + 20	 = 104
		  a + b	 = 104 – 40
		  a + b	 = 64
Substituting these values into the 
formula for the area, we have:
Area of trapezium

	
=

 

1
2  

× (sum of parallel sides)

� × height

	
=

 

1
2

 × (a + b) × 16

	
=

 

1
2  

× 64 × 16

	 = 64 × 8
	 = 512 cm²
Therefore, the area of the trapezium 
is 512 cm².
Among the given options, option (1) 
is correct.

49.	 Option (4) is correct.
Explanation: The characteristic of the 
median of a data is that it does not get 
affected by extreme scores of the data.
(1)	 The median is not affected by 

extreme scores because it is 

simply the middle value in a 
dataset when arranged in order. 
Extreme scores on either end 
of the dataset do not affect the 
position of the middle value.

(2)	 Finding the mean involves 
summing up all the values in 
the dataset and dividing by the 
number of values. The mean is 
a different measure of central 
tendency and is not the same as 
the median.

(3)	 The median is not always 
equal to the mode. The mode 
represents the value(s) that 
occur most frequently in the 
dataset and may or may not 
coincide with the median.

(4)	 The correct characteristic is that 
the median does not get affected 
by extreme scores of the data. 
This means that very large or 
very small values in the dataset 
do not influence the position 
of the middle value while 
calculating the median.

Therefore, the correct answer is (4); 
It does not get affected by extreme 
scores of the data.

50.	 Option (2) is correct.
Explanation: The total number of 
slips in the box is 10, numbered from 
1 to 10.
The number of slips that are greater 
than 6 is 7, 8, 9, and 10.
The probability of selecting a slip with 
a number greater than 6 is given by:

Number of favourable outcomes
Total number of possible outcoomes

Number of favorable outcomes
	 = �4 (number of slips greater 

than 6)
Total number of possible outcomes
	 = �10 (total number of slips in the 

box)

Therefore, the probability is 4
10

, 

which simplifies to 2
5

.

51.	 Option (2) is correct.
Explanation: Mathematical reasoning 
involves the ability to think logically, 
analyze problems and make deduc-
tions based on mathematical princi-
ples. It focuses on understanding 
concepts, identifying relationships 
and applying logical thinking to solve 
problems.
The other options, (1) Recognising 
patterns, (3) Identifying relationships 
and (4) Formulating hypotheses, are 
all essential processes in mathema-
tical reasoning:
Recognising patterns helps in identi-
fying regularities and recurring elem-
ents in mathematical problems, which 
can lead to insights and solutions.
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Identifying relationships involves 
understanding the connections and 
dependencies between different 
mathematical concepts or variables, 
which is crucial for problem-solving 
and making logical deductions.
Formulating hypothesis is an impor-
tant part of mathematical reasoning, 
where one makes educated guesses or 
assumptions based on observations or 
patterns and then tests them through 
logical reasoning and mathematical 
principles.
However, (2) Memorising a formula 
does not align with mathematical 
reasoning. While it may be useful to 
remember formulas in mathematics, 
mathematical reasoning focuses 
on understanding the underlying 
concepts and principles rather than 
relying solely on memorization. 
It involves logical thinking and 
problem-solving rather than rote 
memorization of formulas.
Therefore, the correct answer is (2) 
Memorising a formula.

52.	 Option (2) is correct.
Explanation: This method involves 
visually representing the expansion 
of the expression (a  +  b)2 by using 
the distributive property. The teacher 
can write (a + b) × (a + b) on the 
blackboard and then demonstrate the 
multiplication step by step, showing 
how each term is multiplied together.
This method helps students to 
understand the concept of expanding 
the square of a binomial and 
reinforces the distributive property. It 
allows students to see the step-by-step 
process and provides a clear visual 
representation of the multiplication.
Options (1) Write (a + b)2 = a2 + b2 
+ 2ab on the blackboard and solve 
related problems as examples and 
(3) Take a chart of identities in 
the classroom and help students 
memorize them, can be useful 
in introducing the identity and 
providing examples but they may not 
provide a clear understanding of how 
the identity is derived.
Option (4) Make a jingle and help the 
students memorize all such identities 
focuses on memorization rather than 
understanding the concept. While 
memorization can be useful, it is 
important for students to understand 
the underlying principles and 
concepts behind the identities.
Therefore, option (2) Demonstrate 
the multiplication, (a + b)2 = (a + b) × 
(a + b), would be the most appropriate 
method to teach the identity (a + b)2 
using chalk and blackboard.

53.	 Option (3) is correct.
Explanation: The reason behind 
this observation is that the school 
curriculum often fails to connect 
mathematics to the practical 

applications and real-life situations 
that are relevant to individuals in 
these occupations. The teaching 
methods and examples used in formal 
school mathematics may not resonate 
with the experiences and contexts of 
vendors, construction workers and 
others in similar occupations.
Mathematics, when taught in a 
contextually relevant manner, can 
be more accessible and meaningful 
to learners. However, if the school 
curriculum does not incorporate 
teaching-learning approaches that 
align with the learners’ cultural 
context and occupational needs, 
it can create a gap between formal 
mathematics education and the 
practical mathematical skills required 
in their daily work.
It is important to bridge this gap by 
designing curriculum and teaching 
strategies that connect mathematical 
concepts with the practical 
situations faced by individuals in 
these occupations. By doing so, 
mathematical skills can be developed 
in a more relevant and meaningful 
way, enabling better understanding 
and application of mathematics in 
their professional lives.
Therefore, option (3) School curri-
culum usually does not incorporate 
ways of teaching-learning specific to 
learners’ cultural context provides 
the most appropriate explanation for 
the observed difficulty in coping with 
formal school mathematics among 
individuals in occupations requiring 
mathematical skills of computation 
and estimation.

54.	 Option (1) is correct.
Explanation: When the student states 
that a 3D shape can be transformed 
into a 2D shape, they are referring 
to the process of representing a 
three-dimensional object on a two-
dimensional plane, such as a piece of 
paper or a screen. This representation 
is achieved by viewing the 3D object 
from different sides and capturing its 
appearance from each perspective.
In order to accurately depict a 3D 
object in 2D, it is necessary to view 
it from multiple angles and capture 
its various faces, edges, and vertices. 
This process involves visualizing the 
object from different perspectives 
and projecting its features onto a 2D 
surface.
Therefore, the concept that the stu-
dent is correctly applying in this 
situation is (1) Viewing objects from 
different sides.

55.	 Option (1) is correct.
Explanation: Understanding the 
concept of division of fractions can be 
challenging for students, especially 
in the absence of concrete materials 
or visual representations that help 
them make sense of the concept. 

Concrete materials, such as fraction 
manipulatives or physical objects, 
can provide a hands-on experience 
and support students in grasping the 
concept of dividing fractions.
By using concrete materials, students 
can visually and kinesthetically 
explore the division of fractions, 
understand the relationship between 
the numerator and denominator and 
develop a conceptual understanding 
of how fractions are divided. This 
approach allows students to connect 
the abstract concept of dividing 
fractions to real-life situations or 
practical scenarios.
If the teacher did not provide oppor-
tunities for students to work with 
concrete materials or failed to develop 
the concept of division of fractions 
using hands-on activities before 
introducing the standard algorithm, 
it can result in students struggling 
to see the real-life applications of the 
concept.
Options (2) there are hardly any real-
life applications of fractions, (3) the 
student did not pay attention when 
the teacher was teaching the topic and 
(4) Division of fractions is a difficult 
concept for a class VII student are not 
the most appropriate reasons in this 
context. Fractions have numerous 
real-life applications, paying atten-
tion in class does not guarantee 
understanding of the concept and the 
difficulty of the concept varies from 
student to student.
Therefore, option (1) The teacher 
did not develop the idea of division 
of fractions using concrete materials 
before introducing the standard 
algorithm is the most likely reason 
for the student’s inability to provide 
a real-life situation for the application 
of the division of fractions.

56.	 Option (4) is correct.
Explanation: Probability is a concept 
that is best understood through 
hands-on experience and concrete 
examples. By conducting practical 
experiments with random events, 
such as flipping a coin or rolling a 
dice, students can directly observe 
and record the outcomes. This 
allows them to develop an intuitive 
understanding of probability as they 
analyze the frequency and likelihood 
of different outcomes.
Engaging in practical experiments 
provides a tangible context for 
students to explore and discuss 
the concept of probability. They 
can observe that the probability of 
certain outcomes, such as getting 
heads on a fair coin toss or rolling a 
specific number on a fair dice, lies 
between 0 and 1. This firsthand 
experience helps students grasp the 
idea that probability is a measure 
of the likelihood of an event 
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occurring, ranging from impossible (0 
probability) to certain (1 probability).
While options (1), (2), and (3) can 
also be useful in teaching probability, 
they may not provide the same level 
of concrete experience and direct 
observation as conducting practical 
experiments. Writing the formula of 
probability, using videos, or telling 
students to do experiments can 
support their understanding but 
they may not fully grasp the concept 
until they engage in hands-on 
activities and observe the outcomes 
themselves.
Therefore, option (4) By conducting a 
practical experiment of any random 
event like throwing a dice, flipping a 
coin, etc., and asking students to note 
the outcomes is the most appropriate 
way to teach middle school students 
that the mathematical probability of 
any outcome in a random event lies 
between 0 and 1.

57.	 Option (2) is correct.
Explanation: Research suggests 
that social and cultural factors play 
a significant role in shaping gender 
differences in mathematical achieve-
ment. The persistent social stereotype 
that mathematics is a male domain 
creates a biased environment in which 
girls may experience less confidence, 
lower expectations, and limited 
opportunities for participation and 
advancement in mathematics.
The stereotype that mathematics 
is more suited for boys can lead 
to subconscious biases and dis-
criminatory practices in the 
classroom, such as teacher-student 
interactions, expectations and even 
peer interactions. These biases can 
influence girls’ self-perception, inte-
rest, motivation and ultimately their 
performance in mathematics.
It is important to note that research 
indicates no inherent cognitive differ-
ences between males and females 
that would account for gender-based 
differences in mathematical achieve-
ment. Both genders have the capacity 
to excel in mathematics given equal 
opportunities and support. Therefore, 
option (2) Persistent social stereotype 
carried out in the classroom that 
mathematics is a male domain is the 
most appropriate reason for gender-
based differences in mathematical 
achievement in school mathematics 
education, according to research 
studies.

58.	 Option (3) is correct.
Explanation:  At the primary level, 
children’s thinking in mathematics 
progresses from concrete to abstract 
as well as from abstract to concrete. 
Initially, children are introduced 
to mathematical concepts using 
concrete manipulatives and real-life 
examples. They engage in hands-on 

activities and use physical objects to 
understand mathematical concepts 
in a tangible way. This represents the 
progression from concrete to abstract 
thinking.
As children gain familiarity and 
understanding of mathematical 
concepts, they gradually transition 
to abstract thinking. They start 
using symbols, representations and 
mathematical language to solve 
problems and reason mathematically. 
This represents the progression from 
abstract to concrete thinking.
Both these progressions, from 
concrete to abstract and from abstract 
to concrete, are important in children’s 
mathematical development. They 
provide a balanced approach to 
learning mathematics, allowing 
children to build a solid foundation 
through hands-on experiences and 
gradually develop the ability to think 
and work with abstract mathematical 
ideas.
Therefore, option (3) (A) and (D): 
abstract to concrete and concrete to 
abstract, is the correct choice.

59.	 Option (3) is correct.
Explanation: An open-ended 
question is a question that allows 
for multiple possible answers and 
encourages critical thinking, crea-
tivity and discussion. It does not have 
a fixed or predetermined answer.
Option (3) “Write as many as possible 
even prime numbers” is an open-
ended question because it prompts 
the responder to generate a list of 
even prime numbers, which can have 
multiple answers. The responder can 
provide any number of even prime 
numbers they can think of, without a 
specific correct answer.
In contrast, options (1), (2) and (4) are 
not open-ended questions as they 
either ask for a specific number of 
objects (option 1), require a specific 
calculation to find the answer (option 
2) or specify a range of numbers to 
be listed (option 4). These questions 
have specific answers that can be 
determined.

60.	 Option (2) is correct.
Explanation: An interview schedule 
is a tool used for conducting 
structured interviews where the 
assessor asks predetermined ques-
tions and records the responses of 
the students. While interviews can 
be useful for assessing certain aspects 
of students’ understanding and com-
munication skills, they may not be 
the most suitable tool for assessing 
group projects on problem solving in 
geometry.
In the given scenario, the teacher 
wants to assess parameters like 
analytical skills, problem solving 
skills, presentation skills and 

participation in group discussions. 
These parameters are better assessed 
through other tools such as rating 
scales, checklists and rubrics.
(1)	 A Rating Scale allows the teacher 

to rate or score the students’ 
performance on specific criteria 
related to problem solving in 
geometry.

(3)	 A Checklist provides a list of 
specific skills or behaviors 
that the students should 
demonstrate during the group 
project. The teacher can check 
off the skills that are observed in 
each student.

(4)	 Rubrics provide a detailed 
description of different levels of 
performance for each criterion. 
The teacher can use a rubric to 
assess the students’ performance 
based on predefined criteria and 
levels of proficiency.

These tools (rating scale, checklist, 
and rubrics) are more appropriate 
for assessing the multiple parameters 
mentioned in the scenario and are 
commonly used for assessing group 
projects in mathematics.

61.	 Option (1) is correct.
Explanation: Copper sulphate 
solution and salt water are good 
conductors of electricity as they 
dissociate into ions and carry electric 
current.So,bulb glows in these cases.
Sugar solution can’t dissociate into 
ions. Distilled water is pure form of 
water.It doesn’t contain any minerals 
or salts dissolved in it.So,it is bad 
conductor of electricity. So,bulb does 
not glow in these cases.

62.	 Option (4) is correct.
Explanation: During this process, the 
lactose present in milk undergoes 
fermentation by the action of bacteria 
(such as Lactobacillus species). This 
fermentation process converts lactose 
into lactic acid. The lactic acid, in turn, 
causes the milk proteins to coagulate 
and form curd.
Since the chemical composition 
of the milk changes, and it cannot 
be reversed back to its original 
form, the conversion of milk into 
curd is considered a chemical 
change. Additionally, the change is 
irreversible because once the curd 
is formed, it cannot be transformed 
back into milk.

63.	 Option (3) is correct.
Explanation: W is sodium bicarbo-
nate, which is commonly known 
as baking soda. Baking soda is used 
in antacids, cleaning products and 
baking products. Additionally, when 
turmeric solution is added to sodium 
bicarbonate, it turns reddish. This 
option aligns with the given infor-
mation. Therefore, based on the given 
information, the correct answer is (3) 
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sodium bicarbonate, basic, reddish, 
baking soda.

64.	 Option (2) is correct.
Explanation: It combines the state-
ment that viruses lack cellular 
structure (A) with the statement 
that they contain DNA or RNA (B). 
Both statements are true. Viruses are 
obligate parasite. They don’t have 
any cellular machinery. So, they 
depend on host cell to carry out their 
function.

65.	 Option (3) is correct.
Explanation: A seismograph 
typically consists of a suspended 
mass (pendulum or weight) attached 
to a fixed base. When an earthquake 
occurs, the ground shakes, and 
the suspended mass tends to 
remain stationary due to inertia. 
However, the base moves with the 
shaking motion, causing a relative 
displacement between the mass and 
the base.
To detect and record this relative 
motion, a seismograph incorporates 
an electromagnet. The electromagnet 
is fixed to the base, while the mass 
is attached to a frame that can move 
relative to the base. As the mass moves, 
it causes a change in the magnetic 
field around the electromagnet. This 
change in magnetic field induces 
an electrical current in a coil of wire 
surrounding the electromagnet.
By measuring the electrical current 
induced in the coil, the seismograph 
can record the relative motion 
between the mass and the base, 
providing valuable information 
about the intensity and characteristics 
of an earthquake.

66.	 Option (1) is correct.
Explanation:

Organism Respiratory organ

(A)	 Earthworm (II)	 Skin

(B)	 Cockroach (III)	 Tracheal system

(C)	 Dolphin (IV)	 Lungs

(D)	 Snail (I)	 Gills

67.	 Option (3) is correct.
Explanation: The speed of sound 
depends on the medium through 
which it travels. In general, the speed 
of sound is highest in solids, followed 
by liquids, and then gases.
Based on the given scenario:
l	 Sound travels from water into an 

iron rod: When sound travels from 
water (liquid) to an iron rod (solid), 
the speed of sound increases. This 
is because the particles in a solid 
are closer together, leading to 
faster sound propagation.

l	 Sound travels from the iron rod 
into air: When sound travels from 
an iron rod (solid) to air (gas), the 
speed of sound decreases. This is 

because the particles in a gas are 
more spread out compared to 
those in a solid, resulting in slower 
sound propagation.

l	 Sound travels from air back 
into water: When sound travels 
from air (gas) back into water 
(liquid), the speed of sound 
increases again. This is because 
the particles in a liquid are closer 
together compared to those in 
a gas, facilitating faster sound 
transmission.

Therefore, the correct answer is:
(3) Increase, decrease, increase.

68.	 Option (4) is correct.
Explanation: Assertion (A) states that 
there is no frictional force acting on a 
stationary car. This is incorrect because 
even when a car is stationary, there is 
still static friction acting between the 
tires and the road surface. This static 
friction helps prevent the car from 
sliding or moving when the brakes 
are not applied.
Reason (R) states that friction acts 
only on moving objects. This is also 
incorrect because friction can act on 
both stationary and moving objects. 
In fact, friction is a force that arises 
whenever two surfaces come into 
contact and try to slide past each 
other or are in the process of sliding. 
Friction acts to oppose the relative 
motion or tendency of motion 
between the surfaces.
Since both the assertion and the 
reason are incorrect, option (4) is the 
correct choice.

69.	 Option (2) is correct.
Explanation: When Reena fills the 
bottle and makes three identical holes 
at different levels, the water pressure 
at each hole depends on the depth of 
the hole from the water surface. The 
water pressure increases with the 
depth of the hole.
Since the topmost hole is closest to 
the water surface, it experiences the 
least water pressure. As a result, the 
water from the topmost hole comes 
out with the least force compared to 
the other holes. Additionally, due to 
the lower force, it falls at a shorter 
distance compared to the other holes.
On the other hand, the bottom hole 
is at the maximum depth from the 
water surface, so it experiences the 
highest water pressure. Therefore, 
the water from the bottom hole comes 
out with the highest force and falls at 
a longer distance compared to the 
other holes.
Hence, option (2) is the correct 
statement based on Reena’s 
observation and inference.

70.	 Option (3) is correct.
Explanation: Percolation rate refers 
to the speed at which water moves 
through the soil. It is influenced 

by various factors, including soil 
texture, organic matter content, 
and compaction. It is said that fast 
percolation rate helps in better 
absorption of water by roots. 
This statement is true. When the 
percolation rate is fast, water moves 
quickly through the soil, ensuring 
efficient drainage. This, in turn, helps 
roots to absorb water more effectively, 
reducing the risk of waterlogged 
conditions and providing plants with 
the necessary moisture for growth.

71.	 Option (4) is correct.
Explanation: Material which has a 
low melting point and low resistivity, 
is the best choice for making a fuse 
wire. A low melting point ensures 
that the wire will melt easily under 
excessive current conditions, 
breaking the circuit. Additionally, 
low resistivity allows the wire to carry 
current efficiently under normal 
operating conditions. Therefore, the 
correct material for making a fuse 
wire is: D) Low melting point and low 
resistivity.

72.	 Option (2) is correct.
Explanation:
(A)	 Transpiration creates suction 

pull which causes water to 
reach great heights in tall 
trees. This statement is correct. 
Transpiration, the process by 
which water is lost from the 
leaves of plants in the form of 
water vapor, creates a suction 
force known as transpiration 
pull or tension. This pull helps 
to draw water upwards from 
the roots to the leaves, allowing 
water to reach great heights in 
tall trees.

(B)	 Transpiration helps in 
maintaining the optimum body 
temperature in plants. This 
statement is incorrect. While 
transpiration does play a role 
in cooling the plant by the 
process of evaporation, it is not 
primarily for maintaining the 
optimum body temperature 
in plants. The primary 
function of transpiration is 
the transportation of water 
and minerals from the roots to 
other parts of the plant and the 
regulation of water loss and gas 
exchange in leaves.

(C)	 Transpiration helps in the 
absorption of water by the 
roots. This statement is correct. 
Transpiration does not directly 
assist in the absorption of water 
by the roots. The absorption of 
water by roots occurs through 
the process of osmosis and is 
facilitated by root structures 
such as root hairs.

Sometime due to transpiration,all 
water of xylem tissues are used then 
capillary force helps to rise water 
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from roots to them.Water then rises 
up and transported to other parts 
of plants due to cohesive-adhesive 
force.Because of transpiration,a 
pressure is developed in xylem vessel 
which causes water to be pulled up 
and transported to all parts of plants.

73.	 Option (4) is correct.
Explanation: In a mirror reflection, 
the left and right sides are reversed. 
Therefore, the quarter past three 
position on the clock, which is 
originally on the right side, would 
appear on the left side in the mirror. 
The mirror reflection of the hour 
hand would point towards the nine 
instead of the three, indicating three-
quarters past eight.

74.	 Option (1) is correct.
Explanation: Oviparous refers to the 
mode of reproduction where animals 
lay eggs. In the case of hens, they lay 
eggs as their mode of reproduction. 
The eggs are fertilized internally by 
a rooster but they develop and hatch 
externally outside the hen’s body. 
This makes them oviparous and the 
eggs are laid externally.

75.	 Option (3) is correct.
Explanation: The time period of a 
simple pendulum is the time taken 
for one complete oscillation, i.e., the 
time taken for the pendulum to swing 
from one extreme position to the 
other and back. The factors that affect 
the time period of a simple pendulum 
are:
l	 Length of the pendulum: The time 

period of a simple pendulum is 
directly proportional to the square 
root of its length. Therefore, the 
length of the pendulum does 
influence the time period.

l	 Acceleration due to gravity: The 
time period of a simple pendulum 
is inversely proportional to the 
square root of the acceleration 
due to gravity. In other words, 
the time period depends on the 
gravitational field strength of the 
location where the pendulum is 
being used.

l	 The angle of displacement: The 
time period of a simple pendulum 
is slightly affected by the amplitude 
or angle of displacement, but this 
effect is negligible for small angles.

Therefore, option (3) is the correct 
choice because the mass of the bob 
and the material of the bob do not 
affect the time period of a simple 
pendulum.

76.	 Option (4) is correct.
Explanation: While all the options 
listed are important in cyclone disas-
ter management, early and effective 
forecast systems play a particularly 
crucial role. Cyclones are powerful 
and destructive natural phenomena 
and being able to accurately predict 

their formation, intensity and path 
can significantly contribute to mitiga-
ting their impact. Early and effective 
forecast systems enable authorities to 
issue timely warnings and advisories 
to the communities at risk, allowing for 
evacuation plans to be implemented 
in advance. This helps in saving lives 
and minimizing injuries. Addition-
ally, accurate forecasts provide valu-
able information for resource alloca-
tion and distribution, as well as for 
planning and coordinating emer-
gency response efforts.

77.	 Option (2) is correct.
Explanation: To solve this problem, 
let’s analyze the information given:
Distance between Delhi and Agra: 
180 km, Time taken by Seeta to reach 
Agra: 5 hours Speed of the car while 
returning: 60 km/hr
Time taken for the return journey 

= 
Total distance

Total time taken  
Time taken for 

the return journey = 
 km

60 km/hr
180

Time taken for the return journey 
		 = 3 hours
Now, Total time taken 
	 = �Time taken to reach Agra + 

Time taken for the return 
journey

	 = 5 hours + 3 hours
	 = 8 hours
To find the average speed for the 
entire journey, we can use the 
formula:

	Average speed = 
Total distance

Total time taken

Average speed 
	
= 

 km + 180 km
8 hours

180

Average speed = 
 km

 hours
360
8

Average speed = 45 km/hr
Therefore, the correct answer is: 8 
hours, 45 km/hr

78.	 Option (3) is correct.
Explanation: The shape of red blood 
cells (RBCs) is disc-shaped, like a 
biconcave disc. This shape provides 
a large surface area-to-volume 
ratio, which is advantageous for the 
exchange of gases, specifically oxygen 
and carbon dioxide, in the blood-
stream. The disc shape allows RBCs to 
squeeze through narrow capillaries 
and facilitates efficient gas exchange 
with surrounding tissues.

79.	 Option (1) is correct.
Explanation: When X and Y combine 
to form a compound Z, the atoms of X 
and Y are not the same. Compounds 
are formed when different elements 
chemically combine, resulting in a 
new substance with distinct proper-
ties. Therefore, the correct answer is:
(1)	 Atoms of X and Y are same.

80.	 Option (3) is correct.
Explanation: Oil acts as a barrier 
against rust. It forms a protective 
covering on the metal due to which 
air and moisture can’t react with 
metal and thus prevents rusting. 
Boiling water causes elimination of 
dissolved gases within it .So, when 
oxygen is absent in water, rusting of 
iron will not take place.
Soda lime prevents rusting as it 
absorbs moisture or water vapours 
from the iron nail 
Tap water can accelerate rusting 
because its dissolved oxygen react 
with iron nail to form oxide.

81.	 Option (4) is correct.
Explanation: This statement is true. 
Science encourages a sceptical and 
critical mindset. Scientists constantly 
question existing knowledge, theories 
and explanations in order to advance 
our understanding of the natural 
world. Scepticism is a fundamental 
aspect of the scientific method, as 
it drives the need for evidence-
based reasoning and the testing of 
hypotheses. This statement is true. 
Science often requires collaboration 
and integration across different 
disciplines. Complex scientific 
problems often require expertise 
from various fields, such as biology, 
chemistry, physics, mathematics, 
computer science and to more. 
Interdisciplinary approaches help 
scientists tackle complex issues 
from multiple perspectives, leading 
to a deeper understanding of the 
natural world. Therefore, the correct 
statement(s) are (1) (A) Science 
promotes scepticism and (C) Science 
is interdisciplinary.

82.	 Option (3) is correct.
Explanation: When children have 
naive conceptions or misconceptions 
about various science concepts and 
phenomena, it is important for tea-
chers to challenge these misconcep-
tions by providing counter evidence. 
This helps children correct their 
understanding and develop more 
accurate scientific knowledge. Ignor-
ing these misconceptions (option 
1) can hinder the learning process, 
while simply replacing them with 
correct information (option 2) 
may not address the underlying 
misconceptions. Using naive 
conceptions for grading (option 4) 
would not be appropriate as it does 
not consider the opportunity for 
learning and growth. Therefore, 
the most appropriate approach is to 
challenge these misconceptions by 
presenting evidence and facilitating 
the development of a more accurate 
understanding of scientific concepts.
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83.	 Option (1) is correct.

Explanation: By providing examples 
that do not fit the concept or demons-
trate its limitations, students are 
encouraged to think critically and 
develop a deeper understanding 
of boundaries of the concept and 
defining features. Non-examples can 
help students to identify common 
misconceptions, compare and 
contrast different instances and 
refine their conceptual frameworks.

84.	 Option (3) is correct.
Explanation: Let’s break down each 
statement to understand why they 
align with a constructivist science 
classroom:
(A)	 The role of dialogue is given 

attention: In a constructivist 
science classroom, dialogue is 
given importance. Students 
are encouraged to actively 
participate in discussions, 
ask questions, and engage in 
conversations with their peers 
and teachers. Dialogue helps 
students construct their own 
understanding of scientific 
concepts, share their ideas and 
engage in collaborative learning.

(B)	 Students’ multiple perspectives 
are acknowledged: Constructi-
vist classrooms value and 
acknowledge the multiple 
perspectives of students. They 
recognize that each student 
brings their own background 
knowledge, experiences and 
ideas to the learning process. 
By valuing and respecting these 
perspectives, teachers can create 
a rich and inclusive learning 
environment where students 
feel encouraged to contribute 
and share their unique points of 
view.

(E)	 Assessment focuses on correct 
and scientific responses: In a 
constructivist science classroom, 
assessment is not solely focused 
on finding correct answers 
but also on understanding 
students’ thought processes 
and reasoning. Assessments are 
designed to evaluate students’ 
ability to apply scientific 
principles, think critically, and 
explain their reasoning. While 
correct and scientific responses 
are important, the emphasis is 
also placed on understanding 
how students arrived at those 
responses and their ability to 
justify their thinking.

The statements (C) Connection 
between Science and other subject 
areas is highlighted and (D) 
Objectivity in responses is given 
importance are not specifically 
aligned with a constructivist science 
classroom.

Therefore, the correct statement is 
(3) (A) The role of dialogue is given 
attention, (B) Students’ multiple 
perspectives are acknowledged, and 
(E) Assessment focuses on correct and 
scientific responses.

85.	 Option (2) is correct.
Explanation: An inclusive science 
classroom is characterized by:
(2)	 Individualized instructional plans: 

In an inclusive science classroom, 
individualized instructional 
plans are commonly used to cater 
to the diverse needs and abilities 
of students. These plans consider 
students’ unique learning styles, 
strengths and areas of growth. 
Teachers may adapt their tea-
ching methods, materials, and 
assessments to ensure all students 
have equitable opportunities to 
engage with and understand 
scientific concepts.

Therefore, the correct statements 
regarding an inclusive science class-
room are (2) Individualized instruc-
tional plans.

86.	 Option (2) is correct.
Explanation: This statement 
(S1) is an inference rather than a 
direct observation. The student 
is interpreting the behavior of 
the bar magnet based on their 
understanding of magnetic poles 
and the Earth’s magnetic field. They 
are inferring that the end pointing 
in a particular direction corresponds 
to the north or South Pole of the 
magnet. This statement (S2) describes 
a direct observation. The student 
is observing that when the bar 
magnet is freely suspended, it aligns 
itself in the North-South direction. 
Therefore, S1 is an inference because 
it involves interpretation, while S2 is 
an observation because it describes a 
direct visual or empirical experience. 
Hence, the correct statement is (2) S1 
is inference and S2 is observation.

87.	 Option (3) is correct.
Explanation: This question allows 
for a range of possible answers and 
speculations about the potential 
consequences if the moon’s rotation 
and revolution periods were 
different. It invites students to 
think critically, analyze cause-and-
effect relationships, and engage in 
hypothetical reasoning. Therefore, 
the divergent question among the 
given options is (3) what would 
happen if the periods of rotation and 
revolution of the moon were not the 
same?

88.	 Option (4) is correct.
Explanation: Let’s break down each 
process skill and explain how they are 
promoted by the given activity:
Observing: In this activity, students 
are encouraged to observe the food 

habits and diet of the children they 
interview in their neighborhood. 
They need to pay attention to the types 
of food consumed, portion sizes, meal 
timings and other relevant aspects 
related to their diet. Communicating: 
The activity involves interviewing 
10 children from the neighborhood, 
which requires effective comm-
unication skills. Students need to 
communicate clearly and actively 
listen to the children’s responses to 
gather accurate information about 
their food habits. Additionally, they 
may need to communicate their 
findings or conclusions about healthy 
diet patterns to their teacher or 
classmates. Defining operationally 
is not explicitly promoted by this 
activity as it primarily focuses on 
observing, questioning, and comm-
unicating about the food habits and 
diet patterns of the children in the 
neighborhood. Therefore, the process 
skills being promoted by this activity 
are (4) observing, communicating.

89.	 Option (2) is correct.
Explanation: Using gender-sensitive 
language in the classroom helps 
create an inclusive environment 
where all students feel valued 
and encouraged to participate. By 
avoiding gender stereotypes and 
using inclusive language, the teacher 
can promote equality and empower 
girls to pursue STEM fields without 
feeling marginalized. Inviting women 
scientists to share their experiences, 
expertise and career journeys can 
become inspiring role models for 
girls. It helps challenge the stereotype 
that STEM fields are primarily male-
dominated and exposes girls to 
successful women in these fields, 
fostering a sense of possibility and 
aspiration. Based on the above 
analysis, the correct statement is (2) 
(A) Use gender-sensitive language 
and (B) Invite women scientists to 
class and (C) engage students in 
examing stereotypes.

90.	 Option (4) is correct.
Explanation: Assessing learners’ 
reasoning skills is crucial in science. 
It involves evaluating their ability 
to think critically, analyse data, 
draw conclusions and make 
connections between concepts. 
By giving importance to learners’ 
reasoning, assessments can focus 
on their understanding of scientific 
principles and their ability to apply 
them in different contexts. Science 
relies on specific terminology and 
precise definitions. Assessments 
that emphasize the use of accurate 
vocabulary and definitions help 
evaluate students’ understanding of 
scientific concepts and their ability 
to communicate their knowledge 
effectively. Assessing students’ grasp 
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of precise vocabulary ensures clarity 
in scientific communication and 
promotes conceptual understanding. 
Therefore, the desirable strategies 
for assessing learners meaningfully 
in science is (4) Importance should 
be given to precise vocabulary and 
definitions.

Language-I: Hindi

91.	 fodYi (3) mfpr gSA
O;k[;kµtSlk fd ifjPNsn esa crk;k x;k gS] 
Hkkjr dh cqjkbZ dk dkj.k ̂ xjhcksa dh fLFkfr* gSA 
vr% lcls mi;qä fodYi gSA

92.	 fodYi (4) mfpr gSA
O;k[;kµx|ka'k ds vuqlkj] ;fn cPps f'k{kk 
rd ugha igq¡p ikrs gSaA rks lcls mi;qä fodYi 
gS (4) f'k{kk Lo;a cPpksa rd igq¡puh pkfg,A 
ifjPNsn lq>ko nsrk gS fd ;fn xjhc cPps f'k{kk 
çkIr djus ds fy, ugha vk ldrs gSa] rks f'k{kdksa 
ds :i esa lsok djus ds fy, le£ir O;fä;ksa 
dks laxfBr djds vkSj txg&txg] ?kj&?kj 
tkdj] turk ds chp f'k{kk dk çlkj djds 
muds fy, f'k{kk ykbZ tkuh pkfg,A

93.	 fodYi (2) mfpr gSA
O;k[;kµ;g ifjPNsn Hkkjr esa f'k{kdksa ds :i 
esa lsok djus vkSj turk ds chp f'k{kk dk 
çlkj djus ds fy, le£ir] fuLokFkZ laU;kfl;ksa 
(vkè;kfRed lkèkdksa) dks laxfBr djus ds 
fopkj ij ppkZ djrk gSA blls irk pyrk gS 
fd ;fn dqN laU;kfl;ksa dks HkkSfrd fo"k;ksa ds 
f'k{kdksa ds :i esa laxfBr fd;k tk ldrk gS] 
rks os ,d LFkku ls nwljs LFkku] ?kj&?kj tkdj 
mins'k ns ldrs gSa vkSj f'k{kk çnku dj ldrs 
gSaA blfy, lU;kfl;ksa dks tks Kku nsus dh ckr 
dh tk jgh gS og gSa_ (2) HkkSfrd fo"k;ksa dk 
KkuA

94.	 fodYi (4) mfpr gSA
O;k[;kµifjPNsn ds vuqlkj] leqnk; ds 
yksxksa rd Lo;a igq¡pdj mUgsa f'kf{kr djus dk 
dk;Z djuk pkfg,A

95.	 fodYi (2) mfpr gSA
O;k[;kµifjPNsn ds vuqlkj] cPps i<+kbZ ds 
ctk; tkdj vius firk dh enn djuk ilan 
djsaxs D;ksafdµos thfodksiktZu djuk ilan 
djsaxsA

96.	 fodYi (1) mfpr gSA
O;k[;kµ;g ifjPNsn mu laU;kfl;ksa ds xq.kksa 
ij ppkZ djrk gS tks mins'k nsrs gSa vkSj laHkkfor 
:i ls HkkSfrd fo"k;ksa ds f'k{kd cu tkrs gSaA 
bl ifjPNsn esa laU;kfl;ksa ds ftu xq.kksa dh 
ppkZ dh xbZ gS os bl çdkj gSaµoQknkj vkSj 
fuLokFkZA

97.	 fodYi (3) mfpr gSA
O;k[;kµle~ + U;klh

98.	 fodYi (4) mfpr gSA
O;k[;kµèkeZ + mins'k

99.	 fodYi (2) mfpr gSA
O;k[;kµçR;sd

100.	 fodYi (2) mfpr gSA
O;k[;kµx|ka'k ds vkèkkj ij] iwNs x, ç'u 
dk lcls mi;qä fodYi gksxk vPNs deZ 
djukA ;g vuqPNsn fdlh ds 'kjhj] eu vkSj 
'kCnksa ls vPNs deZ djus ds egRo ij tksj nsrk 
gSA blesa çse] udkjkRed xq.kksa ls eqä O;ogkj] 
lcds lkFk feydj jgus vkSj nwljksa dk lEeku 
djus dk ftØ gSA ;s igyw vPNs deZ djus ds 
fopkj ls esy [kkrs gSaA

101.	 fodYi (4) mfpr gSA
O;k[;kµ;g vuqPNsn 'kjhj] eu vkSj 'kCnksa 
ls vPNs deZ djus ds egRo ij tksj nsrk gS 
vkSj çse] bZekunkjh vkSj udkjkRed Hkkoukvksa 
ls eqfä tSls xq.kksa ij çdk'k Mkyrk gSA bl 
tkudkjh ds vkèkkj ij] ç'u dk lcls mi;qä 
fodYi ^çseiw.kZ O;ogkj esa D;k gksuk pkfg,* 
;g Øksèk lfgr udkjkRed Hkkoukvksa ls cpus 
vkSj nwljksa ds lkFk lkSgknZiw.kZ lacaèkksa dks c<+kok 
nsus ij vuqPNsn ds tksj ds vuq:i gSA

102.	 fodYi (2) mfpr gSA
O;k[;kµx|ka'k esa nh xbZ tkudkjh ds vkèkkj 
ij ç'u dk lcls mi;qä fodYi ^dfork 
esa fdls R;kxus dh ckr dgh xbZ gS* ftldh 
lc cqjkbZ djrs gSaA ifjPNsn esa dgk x;k gS fd 
^deZ og gS ftlls feys] tx esa lnk lEeku] 
ftldh lc fuank djsa] mls R;kx tkuksA* blls 
irk pyrk gS fd ftu O;fä;ksa dh lHkh us fuank 
dh gS] mUgsa gh dfork esa ifjR;ä dgk x;k gSA

103.	 fodYi (2) mfpr gSA
O;k[;kµiwNs x, ç'u dk lcls mi;qä 
fodYi gSµlEiw.kZ fo'o ,d ifjokj gSA

104.	 fodYi (2) mfpr gSA
O;k[;kµx|ka'k ds vkèkkj ij ç'u ßdkSu lk 
dk;Z djus ls lEeku feyrk gS\Þ dk lcls 
mi;qä fodYi gSA vPNs deZ djus lsA

105.	 fodYi (2) mfpr gSA
O;k[;kµfn, x, ifjPNsn ds vkèkkj ij] 
^txr* 'kCn dk ç;ksx laiw.kZ ekuo vfLrRo ;k 
laiw.kZ txr leqnk; dks lan£Hkr djus ds fy, 
fo'ks"k.k ds :i esa fd;k tkrk gSA blfy,] lgh 
fodYi gSµfo'ks"k.kA

106.	 fodYi (2) mfpr gSA
O;k[;kµml O;fä ds fy, lgh fodYi 
ftlus ;g fopkj çfrikfnr fd;k fd cPps 
lkekftd laidZ ds ekè;e ls Hkk"kk lh[krs 
gSaµok;xksRLdhA

107.	 fodYi (2) mfpr gSA
O;k[;kµnh xbZ tkudkjh ds vkèkkj ij] lkr 
eghus dh cPph dk lapkj iwoZHkkf"kd Hkk"k.k ds 
çkjafHkd pj.k esa gksxkA blfy,] lcls mi;qä 
fodYi gS iwoZHkkf"kd Hkk"k.kA

108.	 fodYi (1) mfpr gSA
O;k[;kµfn, x, fodYiksa esa ls] lajfpr 
ckrphr dks ;kstukc¼ ckrphr ekuk tk,xkA

109.	 fodYi (3) mfpr gSA
O;k[;kµo£.kr xfrfofèk] tgka Nk= fdlh 
ikB ds fofHkUu Hkkxksa dks lqurs ;k i<+rs gSa vkSj 
fQj fdlh dk;Z dks iwjk djus ds fy, lwpukvksa 

dk vknku-çnku djrs gSa] mls vkerkSj ij 
ßftXlkW jhfMaxÞ ;k ßftXl xfrfofèkÞ ds :i 
esa tkuk tkrk gSA blfy,] lgh fodYi ftXlkW 
Jqrys[k gksxkA

110.	 fodYi (1) mfpr gSA
O;k[;kµçnku dh xbZ tkudkjh ds vkèkkj ij] 
d{kk lkroha dh Nk=k ftl Hkk"kk fodkj dk 
vuqHko dj jgh gS] tgka mldk Hkk"k.k èkkjkçokg 
ugha gS vkSj mls d{kk esa ppkZ fd, x, 'kCnksa 
dks le>us esa dfBukbZ gksrh gS, og laHkor% 
fMLQsfl;k (ftls okpk?kkr Hkh dgk tkrk gS) 
gSA fMLQsfl;k ,d Hkk"kk fodkj gS tks Hkk"kk dh 
le> vkSj mRiknu esa dfBukbZ dh fo'ks"krk gSA 
blfy,] lgh fodYi gksxk fMLQsfx;kA ;g 
è;ku nsus ;ksX; gS fd fMLiSfx;k ,d vyx 
fLFkfr gS tks fuxyus esa dfBukbZ dks lan£Hkr 
djrh gSA
;g voLFkk fo|kfFkZ;ksa dks 'kCnkFkZ] 'kCnksa ds 
O;kdj.k] vkSj Hkk"kk ds ç;ksx esa dfBukbZ vkSj 
=qfV;ksa dk vuqHko djkrh gSA

111.	 fodYi (1) mfpr gSA
O;k[;kµfn, x, lanHkZ ds vkèkkj ij] çR;sd 
l= ds var esa f'k{kd dks vius Nk=ksa ds Hkk"kk 
dkS'ky dk ijh{k.k djus esa ftl çdkj dh 
lgk;rk miyCèk gksxh og gksxh Nk=ksa dh Hkk"kkbZ 
n{krk dk vkdyu djus esaA Nk=ksa ds Hkk"kk 
dkS'ky dk vkdyu djus esa Hkk"kk ds fofHkUu 
igyqvksa] tSls lquuk] cksyuk] i<+uk vkSj fy[kuk 
esa mudh n{krk dk ewY;kadu djuk 'kkfey 
gksxkA ;g ewY;kadu f'k{kd dks Nk=ksa dh Hkk"kk 
{kerkvksa dk vkdyu djus vkSj mudh Hkk"kk 
n{krk ds Lrj dks fuèkkZfjr djus esa enn djrk 
gSA
f'k{kk ;kstuk vkSj mik;ksa dk fu/kkZj.k djus esa 
enn djrk gS rkfd og vius fo|kfFkZ;ksa dh 
Hkk"kk dkS'ky dks LFkk;h :i ls lqèkkj ldsA

112.	 fodYi (2) mfpr gSA
O;k[;kµHkk"kk d{kk esa ewY;kadu fofHkUu 
mís';ksa dh iw£r djrk gS vkSj f'k{k.k-lh[kus 
dh çfØ;k ds nkSjku vyx-vyx le; ij 
vk;ksftr fd;k tk ldrk gSA vkids }kjk çnku 
fd, x, dFkuksa dk fooj.k ;gka fn;k x;k gSµ
n	 ;g tkuus ds fy, fd Nk=ksa dks ikB 

ls lacafèkr ç'uksa ds mÙkj ;kn gSa ;k 
ughaµvdsys ;kn djus dk vkdyu djus 
ls Nk=ksa dh Hkk"kk esa le> vkSj n{krk iwjh 
rjg ls le> esa ugha vk ldrh gSA gkyk¡fd 
Nk=ksa ds Kku çfrèkkj.k dk vkdyu 
djuk egRoiw.kZ gS, ysfdu ewY;kadu dks 
mPp&Øe dh lksp dkS'ky] Hkk"kk fu;eksa ds 
vuqç;ksx vkSj lapkj {kerkvksa ij Hkh è;ku 
dsafær djuk pkfg,A

n	 f'k{k.k-vfèkxe çfØ;k ds nkSjku fd;k 
tkuk pkfg,µf'k{k.k-lh[kus dh çfØ;k 
ds nkSjku fd, x, ewY;kadu] ftUgsa vDlj 
jpukRed ewY;kadu dgk tkrk gS] Nk=ksa vkSj 
f'k{kdksa nksuksa dks rRdky çfrfØ;k çnku 
djus ds fy, ewY;oku gSaA os lqèkkj ds {ks=ksa 
dh igpku djus] funsZ'kkRed j.kuhfr;ksa dks 
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lek;ksftr djus vkSj py jgs funsZ'k dk 
ekxZn'kZu djus esa enn djrs gSaA jpukRed 
ewY;kadu ç'uksÙkjh] d{kk ppkZ] lewg 
xfrfofèk;ksa vkSj vukSipkfjd fVIif.k;ksa ds 
:i esa gks ldrk gSA

n	 ;g tkuus ds fy, fd f'k{kd i<+kus esa 
fdruk dq'ky gSµewY;kadu eq[; :i 
ls dsoy f'k{kd ds dkS'ky dk vkdyu 
djus ds ctk; Nk=ksa dh çxfr vkSj lh[kus 
dk ewY;kadu djus ds mís'; dks iwjk djrk 
gSA gkyk¡fd] funsZ'k dh çHkko'khyrk dk 
vuqeku vçR;{k :i ls Nk=ksa ds çn'kZu 
vkSj fodkl ls yxk;k tk ldrk gSA f'k{kd 
ewY;kadu ifj.kkeksa dk mi;ksx vius f'k{k.k 
rjhdksa ij fopkj djus, funsZ'kkRed 
n`f"Vdks.k dks la'kksfèkr djus vkSj tgka 
vko';d gks ogka vfrfjä lgk;rk çnku 
djus ds fy, dj ldrs gSaA

n	 ikB lekfIr ds ckn ;g djuk 
pkfg,µfdlh ikB ds iwjk gksus ds ckn 
fd, x, ewY;kadu] ftUgsa vDlj ;ksxkRed 
ewY;kadu dgk tkrk gS, Nk=ksa ds lh[kus ds 
ifj.kkeksa dk O;kid ewY;kadu çnku djrs 
gSaA ;s vkdyu ;g fuèkkZfjr djus esa enn 
djrs gSa fd Nk=ksa us ikB ds mís';ksa dks fdl 
gn rd gkfly fd;k gS] vkSj os vDlj 
ijh{k.k] ifj;kstukvksa ;k çLrqfr;ksa dk :i 
ysrs gSaA ;ksxkRed ewY;kadu Nk=ksa ds çn'kZu 
dk lkjka'k çnku djrk gS vkSj bldk mi;ksx 
xzsfMax] mUufr ;k Hkfo"; dh vuqns'kkRed 
;kstuk ds ckjs esa fu.kZ; ysus ds fy, fd;k 
tk ldrk gSA

la{ksi esa] Hkk"kk d{kk esa ewY;kadu esa jpukRed 
vkSj ;ksxkRed ewY;kadu dk la;kstu 'kkfey 
gksuk pkfg, tks Nk=ksa dh le>] vuqç;ksx vkSj 
lapkj dkS'ky dk ewY;kadu djrk gSA le; 
ij çfrfØ;k çnku djus vkSj py jgs lqèkkj 
dks lqfoèkktud cukus ds fy, mUgsa f'k{k.k-
lh[kus dh çfØ;k ds nkSjku lapkfyr fd;k 
tkuk pkfg,A tcfd ewY;kadu vçR;{k :i 
ls f'k{k.k dh çHkko'khyrk dks n'kkZrs gSa] mudk 
çkFkfed è;ku Nk=ksa dh çxfr vkSj lh[kus ds 
ifj.kkeksa dk ewY;kadu djus ij gksuk pkfg,A

113.	 fodYi (3) mfpr gSA
O;k[;kµdksM feJ.k vkSj dksM fLofpax ds 
ckjs esa lgh dFku gSµ dksM fefDalx rc gksrh 
gS tc dksbZ ,d Hkk"kk ls ,d 'kCn ;k okD;ka'k 
dk mi;ksx djrk gS vkSj nwljk 'kCn ;k okD;ka'k 
nwljh Hkk"kk ls cksyk tkrk gS] tcfd dksM 
fLofpax rc gksrk gS tc dksbZ fodYi ds :i esa 
nks ;k nks ls vfèkd Hkk"kkvksa dk mi;ksx djrk gSA
dksM feJ.k ls rkRi;Z ,d gh okrkZyki ;k okD; 
esa nks ;k nks ls vfèkd Hkk"kkvksa ds 'kCnksa] okD;ka'kksa 
;k O;kdjf.kd lajpukvksa ds lfEeJ.k ls gSA 
blesa fofHkUu Hkk"kkvksa ds rRoksa dk ijLij 
mi;ksx 'kkfey gSA nwljh vksj, dksM fLofpax 
esa ckrphr esa nks ;k nks ls vfèkd Hkk"kkvksa ds 
chp fLop djuk 'kkfey gksrk gS] tks vDlj 
lkekftd, lkaLÏfrd ;k çklafxd dkjdksa ls 

çHkkfor gksrk gSA dksM fLofpax fofHkUu Lrjksa 
ij gks ldrh gS] ftlesa 'kCn ;k okD;ka'k Lrj] 
okD; Lrj] ;k ;gka rd fd ,d çopu ds 
Hkhrj Hkh 'kkfey gSA dksM feJ.k vkSj dksM 
fLofpax i;kZ;okph ugha gSaA os fof'k"V Hkk"kkbZ 
?kVukvksa dk çfrfufèkRo djrs gSaA dksM feJ.k 
,d okrkZyki ds Hkhrj fofHkUu Hkk"kkvksa dk ,d 
lkFk mi;ksx gS] tcfd dksM fLofpax esa fodYi 
ds :i esa Hkk"kkvksa ds chp fLop djuk 'kkfey 
gSA dksM feJ.k vkSj dksM fLofpax nksuksa f}Hkk"kh 
;k cgqHkk"kh O;fä;ksa ds chp ns[ks tkrs gSa ftuds 
ikl dbZ Hkk"kkvksa esa n{krk gSA

114.	 fodYi (2) mfpr gSA
O;k[;kµog dFku tks i<+us vkSj fy[kus ds 
dkS'ky ds chp lacaèk dks lcls vPNh rjg 
n'kkZrk gS og gSµ(2) i<+uk vkSj fy[kuk 
dkS'ky ,dhÏr@'kkfey gSaA
i<+uk vkSj fy[kuk dkS'ky vkil esa tqM+s gq, gSa 
vkSj ijLij lgk;d gSaA ,d dkS'ky esa n{krk 
fodflr djus ls vDlj nwljs ds fodkl ij 
ldkjkRed çHkko iM+rk gSA dq'ky ikBdksa dks 
Hkk"kk lajpuk, 'kCnkoyh vkSj le> dh csgrj 
le> gksrh gS] tks mudh ys[ku {kerkvksa esa 
lgk;rk dj ldrh gSA blh rjg] dq'ky ys[kdksa 
dks okD; lajpuk] O;kdj.k vkSj 'kCnkoyh dh 
xgjh le> gksrh gS] tks mudh i<+us dh le> 
dks c<+k ldrh gSA
i<+us vkSj fy[kus ds dkS'ky esa èofu&foKku] 
'kCnkoyh] O;kdj.k vkSj le> tSls lkekU; 
vkèkkj gksrs gSaA tSls-tSls Nk= i<+us dh 
xfrfofèk;ksa esa layXu gksrs gSa] mUgsa fofHkUu ys[ku 
'kSfy;ksa] Hkk"kk iSVuZ vkSj lkfgfR;d midj.kksa 
ls voxr djk;k tkrk gS] tks muds ys[ku dks 
çsfjr vkSj lwfpr dj ldrs gSaA blh rjg] tSls-
tSls Nk= fy[kus dk vH;kl djrs gSa] os vius 
Hkk"kk dkS'ky] 'kCnkoyh mi;ksx vkSj le>us dh 
{kerkvksa dks ifj"Ïr djrs gSa] ftlls mudh 
i<+us dh le> esa o`f¼ gks ldrh gSA
;g è;ku j[kuk egRoiw.kZ gS fd tgka i<+us 
vkSj fy[kus ds dkS'ky ,dhÏr gSa] ogha mUgsa 
funsZ'kkRed lanHkZ vkSj f'k{kk£Fk;ksa dh t:jrksa 
ds vkèkkj ij vyx ls fodflr vkSj fl[kk;k Hkh 
tk ldrk gSA f'k{kd vDlj ,slh xfrfofèk;k¡ 
vkSj ikB fMtÛkbu djrs gSa ftuesa i<+uk vkSj 
fy[kuk nksuksa 'kkfey gksrs gSa] D;ksafd ;s dkS'ky 
,d-nwljs ds iwjd vkSj lqn`<+ gksrs gSaA gkyk¡fd] 
çR;sd dkS'ky dks O;fäxr :i ls yf{kr djus 
okys fof'k"V funsZ'k vkSj vH;kl Hkh lqèkkj ds 
fof'k"V {ks=ksa dks lacksfèkr djus ;k fo'ks"k Hkk"kk 
igyqvksa ij è;ku dsafær djus ds fy, Qk;nsean 
gks ldrs gSaA

115.	 fodYi (4) mfpr gSA
O;k[;kµfn, x, fodYiksa ds vkèkkj ij 
f'k{kd ftl dkS'ky dk ewY;kadu ugha 
dj jgk gS og cksy jgk gSA f'k{kd lquus 
(lkoèkkuhiwoZd)] fy[kus] i<+us vkSj lquus ds 
dkS'ky dk ewY;kadu dj jgk gS] ysfdu cksyus 
ds dkS'ky dk ughaA

fo|kfFkZ;ksa ds ys[ku dkS'ky dks ekik ugha tk jgk 
gS] tSls fd mudh fopkj'kfä] O;kdj.k] vkSj 
O;fäxr vfHkO;fä dkS'ky dk ekiu fd;k 
tk ldrk gSA

116.	 fodYi (3) mfpr gSA
O;k[;kµçfØ;k-vkèkkfjr ys[ku n`f"Vdks.k 
esa lgh pj.k gSaµ iwoZys[ku-lEiknu-la'kksèku-
ys[ku-çdk'kuA çfØ;k-vkèkkfjr ys[ku 
n`f"Vdks.k esa] pj.k vke rkSj ij iwoZ-ys[ku ls 
'kq: gksrs gSa] tgka ys[kd fopkj mRiUu djrk 
gS] :ijs[kk rS;kj djrk gS ;k vius ys[ku dh 
;kstuk cukrk gSA blds ckn laiknu vkrk gS] 
tgka ys[kd Li"Vrk] lqlaxrrk vkSj O;kdj.k 
esa lqèkkj ds fy, leh{kk djrk gS vkSj cnyko 
djrk gSA laiknu ds ckn] vxyk pj.k la'kksfèkr 
djuk gS] ftlesa ys[ku dh lkexzh vkSj lajpuk 
dks iquxZfBr vkSj ifj"Ïr djuk 'kkfey gSA 
iqujh{k.k pj.k ds ckn] ys[kd okLrfod ys[ku 
pj.k dh vksj c<+rk gS] tgk¡ os ikB dk vafre 
laLdj.k fy[krs gSaA var esa] çfØ;k çdk'ku ds 
lkFk lekIr gksrh gS] tgka ys[kd viuk rS;kj 
dke lk>k djrk gS ;k tek djrk gSA
bl çfØ;k esa ys[kuiwoZ esa fopkjksa vkSj vkdyu 
dks rS;kj fd;k tkrk gS] la'kks/ku esa lkexzh dh 
xq.koÙkk] rkjh[k] vkSj rduhdh xyfr;ksa dk 
la'kks/ku fd;k tkrk gS] laiknu esa lkexzh dks 
laxfBr fd;k tkrk gS] ys[ku esa vkdyuksa dks 
okD;ksa esa :ikarfjr fd;k tkrk gS] vkSj çdk'ku 
esa lkexzh dks mfpr <ax ls çLrqr fd;k tkrk gSA

117.	 fodYi (2) mfpr gSA
O;k[;kµfof'k"V rF;ksa dks tkuus ds fy, 
dh tkus okyh jh¥Mx dks vkerkSj ij fLd¥ex 
jh¥Mx dgk tkrk gSA fLd¥ex esa ikB dh 
lkexzh dk lkekU; Kku çkIr djus vkSj fof'k"V 
tkudkjh ;k eq[; ¥cnqvksa dh igpku djus ds 
fy, ikB ij Rofjr utÛj Mkyuk 'kkfey gSA 
fLd¥ex dk mi;ksx vDlj rc fd;k tkrk gS 
tc le; lhfer gksrk gS ;k xgjkbZ ls le>us 
ds fy, i<+us ds ctk; fof'k"V fooj.k [kkstrs 
le; fd;k tkrk gSA
foLr`r iBu ls ikBîØe ls lacaf/kr fo'ks"k 
rF;] udy vkSj egRoiw.kZ va'k] vkadM+s ;k 
rF;ksa dh fo'ks"krk,a] mnkgj.k vkfn dk irk 
yxk;k tk ldrk gSA

118.	 fodYi (2) mfpr gSA
O;k[;kµd{kk esa lkekftd Hkk"kk dks c<+kok 
nsus ds fy,] ,d f'k{kd dks Nk=ksa ds fy, 
,d-nwljs ds lkFk ckrphr djus ds volj 
cukus ij è;ku dsafær djuk pkfg,A blfy,] 
fodYi ^Nk=ksa dks ,d-nwljs ds lkFk ckrphr 
djus dk volj nsa* lgh mÙkj gSA
Nk=ksa dks ,slh xfrfofèk;ksa esa 'kkfey djuk 
ftuesa lapkj vkSj lg;ksx dh vko';drk 
gksrh gS] tSls lewg ppkZ] lewg ifj;kstuk,¡] 
Hkwfedk fuHkkuk] okn-fookn ;k lg;ksxkRed 
leL;k-lekèkku] lkekftd Hkk"kk ds fodkl 
dks c<+kok ns ldrs gSaA ;s xfrfofèk;k¡ Nk=ksa 
dks okLrfod thou dh fLFkfr;ksa esa Hkk"kk dk 
mi;ksx djus dk vH;kl djus] lkFkZd ckrphr 
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esa layXu gksus] vius fopkj O;ä djus] nwljksa 
dks lquus] vFkZ ij ckrphr djus vkSj lkekftd 
dkS'ky fodflr djus dh vuqefr nsrh gSaA ;g 
laoknkRed vkSj lapkj okrkoj.k mudh Hkk"kk 
n{krk dks c<+krk gS vkSj lkekftd lanHkks± esa 
çHkkoh lapkj dks c<+kok nsrk gSA

119.	 fodYi (4) mfpr gSA
O;k[;kµçnku dh xbZ tkudkjh ds vkèkkj ij] 
;g Li"V :i ls ugha crk;k x;k gS fd f'k{kd 
fdl çdkj dh i<+kbZ dks c<+kok nsuk pkgrk gSA 
gkyk¡fd] ge fn, x, fodYiksa ds vkèkkj ij 
,d f'kf{kr vuqeku yxk ldrs gSaA
rsth ls i<+uk (fodYi 1) fooj.k esa x, 
fcuk ikB dk ,d lkekU; fopkj çkIr djus 
ds fy, rsth ls i<+us ij dsafær gSA foLr`r 
iBu (fodYi 2) esa ikB dh ckjhfd;ksa vkSj 
isphnfx;ksa ij iwjk è;ku nsrs gq, lkoèkkuhiwoZd 
vkSj è;kuiwoZd i<+uk 'kkfey gSA fØfVdy 
jh¥Mx (fodYi 3) esa ikB dh rkdr] 
detksfj;ksa vkSj var£ufgr lans'kksa ij fopkj 
djrs gq, mldk fo'ys"k.k vkSj ewY;kadu djuk 
'kkfey gSA lgHkkxh iBu (fodYi 4) vke 
rkSj ij ,d vfèkd baVjSfDVo i<+us ds vuqHko 
dks lan£Hkr djrk gS tgka ikBd lfØ; :i ls 
ikB ds lkFk tqM+rs gSa] tSls fd ppkZ] ,uksVs'ku ;k 
jpukRed çfrfØ;kvksa ds ekè;e lsA
;g ns[krs gq, fd Nk=ksa dks ,d dgkuh dh fdrkc 
pquus vkSj mls O;fäxr :i ls i<+us ds fy, 
dgk tkrk gS] ;g laHkkouk gS fd f'k{kd foLr`r 
i<+us (fodYi 2) vkSj laHkor% vkykspukRed 
i<+us (fodYi 3) ds la;kstu dks c<+kok nsuk 
pkgrs gSaA è;ku dgkuh dks le>us] mlds rRoksa 
dks le>us vkSj laHkkfor :i ls mlds fo"k;ksa 
;k lans'kksa dk fo'ys"k.k djus ij gksxkA ;fn 
Nk=ksa ls ckn esa vius lkfFk;ksa ds lkFk iqLrd ds 
ckjs esa ppkZ djus ;k vius fopkj lk>k djus dh 
vis{kk dh tkrh gS] rks lgHkkxh i<+us (fodYi 
4) dks Hkh çksRlkfgr fd;k tk ldrk gSA

120.	 fodYi (1) mfpr gSA
O;k[;kµfofHkUu xfrfofèk;ksa ds ekè;e ls 
orZuh vkSj fojke fpÊ dkS'ky esa lqèkkj ls Nk=ksa 
dks dbZ ykHk gks ldrs gSaµ
n	 çokg vkSj Li"VrkµorZuh vkSj fojke 

fpÊ dkS'ky esa lqèkkj djds] Nk= vius 
ys[ku ds çokg vkSj Li"Vrk dks c<+k ldrs 
gSaA lgh orZuh vkSj mfpr fojke fpÊ vFkZ 
dks çHkkoh <ax ls O;ä djus esa enn djrs 
gSa] ftlls muds fyf[kr dk;Z dks le>uk 
vkSj mldk ikyu djuk vklku gks tkrk gSA

n	 lquus dk dkS'kyµgkykafd bldk lhèks 
rkSj ij ,d fodYi ds :i esa mYys[k ugha 
fd;k x;k gS] ysfdu orZuh vkSj fojke fpÊ 
xfrfofèk;ksa esa layXu gksuk vçR;{k :i ls 
lquus ds dkS'ky dks csgrj cukus esa ;ksxnku 
ns ldrk gSA bu xfrfofèk;ksa ds nkSjku] Nk=ksa 
dks funsZ'kksa] èoU;kRed èofu;ksa ;k orZuh 
iSVuZ dks è;ku ls lquus dh vko';drk gks 
ldrh gS] ftlls cksys x, 'kCnksa dks ns[kus 
vkSj le>us dh mudh {kerk c<+ ldrh gSA

n	 lVhdrkµfodYi 3 esa mYys[k gS fd 
lVhdrk esa lqèkkj fd;k tk,xk] tks orZuh 
vkSj fojke fpÊ dkS'ky dk ,d çeq[k 
igyw gSA orZuh vkSj fojke fpÊ fu;eksa dk 
vH;kl djds] Nk= vius fyf[kr lapkj 
esa vfèkd lVhdrk fodflr dj ldrs 
gSaA blesa lgh orZuh] mfpr fojke fpÊ 
vkSj mfpr iwathdj.k dk mi;ksx 'kkfey gS] 
ftlds ifj.kkeLo:i vfèkd ifj"Ïr vkSj 
lVhd fyf[kr dk;Z gksrk gSA

n	 'kCnkoyh fodklµgkykafd Li"V :i ls 
mYys[k ugha fd;k x;k gS] orZuh xfrfofèk;ksa 
esa layXu gksus ls vDlj u, 'kCn vkSj mudh 
lgh orZuh lh[kuk 'kkfey gksrk gSA ubZ 
'kCnkoyh dk ;g çn'kZu Nk=ksa ds 'kCn Kku 
dks c<+kus vkSj mudh lexz 'kCnkoyh dks 
c<+kus esa ;ksxnku ns ldrk gSA

la{ksi esa] orZuh vkSj fojke fpÊ dkS'ky ij 
è;ku dsafær djds] Nk= vius ys[ku ds çokg 
vkSj Li"Vrk esa lqèkkj dj ldrs gSa] vius lquus 
ds dkS'ky dks c<+k ldrs gSa] fyf[kr dk;Z esa 
lVhdrk c<+k ldrs gSa vkSj laHkkfor :i ls 
viuh 'kCnkoyh fodflr dj ldrs gSaA

Language: English
121.	 Option (1) is correct.

Explanation: The narrator was sorry 
because his house had caught fire.

122.	 Option (2) is correct.
Explanation: From the line' My 
entire, worldly worth was swallowed 
up, and I resigned myself thenceforth 
to despair' suggests that the author's 
possessions were completely burnt 
out and he had nothing left or he was 
reduced to poverty. So statement (b) 
is true.
The narrator was not keen to find out 
about the cause of the fire as he does 
not mention it in the paragraph. So 
statement (a) is false. 

123.	 Option (4) is correct.
Explanation: The passage mentions 
a compartment wall that stood about 
the middle of the house and against 
which the head of the narrator's bed 
had rested. This wall is described as 
being the only exception to the walls 
that had fallen in due to the fire, 
implying that it divided the house 
into two parts.

124.	 Option (3) is correct.
Explanation: The passage does not 
provide any information about the 
sleeping position of the narrator or 
whether they used to sleep with their 
head towards the wall. Therefore, 
statement (3) cannot be considered 
true based on the given information.

125.	 Option (2) is correct.
Explanation: The passage mentions 
that a dense crowd had collected 
around the wall that had survived 
the fire, and many people were 
examining a particular portion of it 

with great attention. This implies that 
people came to visit the ruins and 
showed curiosity about the fire and 
its cause. Therefore, statement (b) is 
correct.
However, the passage does not 
explicitly mention whether people 
came to console the narrator. 
Therefore, statement (a) cannot be 
determined as definitively true based 
on the given information.

126.	 Option (4) is correct.
Explanation: The passage mentions 
that a dense crowd had collected 
around the wall, and they were 
examining a particular portion of it 
with great attention. The expressions 
used by the crowd, such as "strange" 
and "singular," excited the curiosity 
of the narrator. This indicates that the 
people were shocked at the damage 
caused by the fire (statement a) and the 
narrator felt curious at the excitement 
of the people (statement b).
However, the passage does not 
mention that a cat was glaring at 
the people from the wall. Therefore, 
statement c cannot be determined as 
definitively true based on the given 
information.

127.	 Option (1) is correct.
Explanation: The word 'Exception 
means something or someone that is 
not included in the group or that does 
not behave in the expected way.
Here, Out of the many walls in the 
house, only  one wall has not fallen 
in the fire and so it was an 'oddity' or 
exception.

128.	 Option (3) is correct.
Explanation: In the given passage, 
"On the day succeeding the fire" 
refers to the day that came after 
the fire incident. The opposite of 
"succeeding" would be "preceding," 
which means the day that came 
before the fire incident.

129.	 Option (2) is correct.
Explanation: In the sentence, "The 
plastering had here, in great measure, 
resisted the action of the fire," 
"plastering" is used as a noun to refer 
to the material or process of applying 
plaster to the wall.

130.	 Option (2) is correct.
Explanation: The poem raises 
concerns about the suffering and 
misery of impoverished children in 
a rich and fruitful land. It questions 
the morality of such a situation 
and criticizes the conditions that 
lead to poverty and deprivation. 
This suggests that the poem serves 
as a voice of protest against social 
inequality and injustice.

131.	 Option (1) is correct.
Explanation: The poem highlights 
the ironic contrast between a rich 
and fruitful land and the miserable 
condition of its children. It questions 
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the existence of poverty and suffering 
in a land that should ideally be 
prosperous. The speaker finds it 
ironic that in a country with abundant 
resources, there are still so many 
impoverished children. This irony 
underscores the social injustice and 
inequality portrayed in the poem.

132.	 Option (2) is correct.
Explanation: A metaphor is a figure 
of speech that compares two different 
things by stating that one thing is 
another. In this case, the speaker 
is metaphorically describing the 
difficult and challenging paths or 
journeys of the people in the land of 
poverty by comparing them to being 
filled with thorns. The metaphor 
emphasizes the hardships and 
obstacles they face in their lives.

133.	 Option (4) is correct.
Explanation: The line suggests that in 
the land of poverty described in the 
poem, the conditions are bleak and 
barren. It metaphorically represents 
a state of deprivation, where there 
is a lack of growth, abundance, 
and prosperity. It emphasizes the 
harshness and desolation of the 
environment, symbolizing the 
absence of hope and improvement. 
In a land of abundant, if children are 
dying of hunger, then it must be due 
to uncaring and callous attitude of the 
people.

134.	 Option (1) is correct.
Explanation: The word "usurous" 
implies that the hand feeding the 
babes is characterized by being cold 
and exploitative, suggesting a greedy 
or selfish nature. It conveys the idea 
that those responsible for providing 
for the children are doing so in a cruel 
and unjust manner, possibly taking 
advantage of their vulnerability.

135.	 Option (3) is correct.
Explanation: The lines "Babes reduced 
to misery" and "And so many children 
poor" indicate that the children in the 
poem are experiencing hardship and 
poverty. The overall tone of the poem 
suggests a contrast between the rich 
and fruitful land and the plight of the 
children, emphasizing their suffering 
and the harsh conditions they face.

136.	 Option (2) is correct.
Explanation: Lev Vygotsky, a 
renowned developmental psycho-
logist, emphasized the role of social 
interaction and cultural context in the 
development of language and other 
cognitive processes. He proposed the 
sociocultural theory, which posits that 
language and cognitive development 
are intertwined and shaped by social 
interactions, cultural practices, and 
collaborative learning experiences. 
According to Vygotsky, children learn 
language through interactions with 
more knowledgeable individuals, 

such as parents, caregivers, and peers, 
who provide guidance, scaffolding, 
and opportunities for language 
learning and development.

137.	 Option (4) is correct.
Explanation: Babbling refers to the 
stage in language development 
where infants produce repetitive 
sequences of consonant and 
vowel sounds, such as "bababa" 
or "dadada." It is an important 
milestone in language acquisition 
and serves as a precursor to linguistic 
speech. During the babbling stage, 
infants experiment with different 
combinations of sounds and 
explore the possibilities of language 
production. Although babbling 
does not have specific meanings 
attached to it, it is considered an early 
form of communication through 
vocalizations.

138.	 Option (1) is correct.
Explanation: When talk is considered 
as well-organized, it is often described 
as (1) structured. A structured talk 
follows a logical flow, has a clear 
organization, and is cohesive in its 
presentation. It typically includes an 
introduction, body, and conclusion, 
with ideas and information presented 
in a coherent and organized manner. 
Structured talks help the speaker 
effectively convey their message 
and ensure that listeners can follow 
and understand the content being 
presented.

139.	 Option (3) is correct.
Explanation: The activity described, 
where students hear or read 
different parts of a text and then 
exchange information with others 
to complete a task, is known as 
(3) Jigsaw dictation. In a jigsaw 
dictation, students are divided into 
groups, and each group is given 
a specific part of the text. They 
work together to understand and 
remember the information in their 
assigned part. Then, students from 
different groups come together to 
share and exchange the information 
they have learned, allowing each 
group to complete the task by 
combining the information from all 
parts of the text. This collaborative 
activity promotes communication, 
cooperation, and comprehension 
skills among students.

140.	 Option (1) is correct.
Explanation: The language disorder 
described, where a student has 
difficulty in retelling a story, lacks 
fluency in speech, and struggles to 
understand the meaning of words 
discussed in class, is referred to 
as (1) Dysphasia. Dysphasia is a 
language disorder characterized by 
difficulties in language production, 
comprehension, and expression. It 

can affect various aspects of language, 
including speaking, listening, 
reading, and writing. In this case, the 
student's difficulties with retelling a 
story, lack of fluency in speech, and 
difficulty in understanding words 
indicate possible dysphasia.

141.	 Option (1) is correct.
Explanation: The teacher testing 
the students in language skills at the 
end of each semester will primarily 
help her to (1) assess the students' 
language proficiency. By conducting 
language assessments, the teacher 
can evaluate the students' abilities 
and determine their level of language 
proficiency. This assessment can 
provide valuable information about 
the students' strengths, weaknesses, 
and overall progress in the language. 
It helps the teacher understand the 
areas where students may need 
additional support or improvement 
and guides instructional planning 
for future language learning. While, 
measuring aptitude, assigning 
scores, and defining curricular 
objectives may also be influenced by 
the assessment results, the primary 
purpose is to assess and evaluate the 
students' language proficiency.

142.	 Option (2) is correct.
Explanation: Assessment in the 
language class is an ongoing process 
that should be integrated throughout 
the teaching and learning activities. It 
involves various forms of assessment 
such as formative assessments, 
which occur during the instructional 
process, and summative assessments, 
which are conducted at the end of a 
unit or course.
Assessment during the teaching-
learning process helps the teacher 
monitor students' progress, identify 
areas of strength and weakness, 
provide timely feedback, and adjust 
instruction accordingly. It allows 
the teacher to gauge students' 
understanding, track their language 
development, and make informed 
decisions about instructional 
strategies and interventions.
Assessment is not solely about 
checking if students have memorized 
answers or evaluating the teacher's 
efficiency. It is an essential component 
of the teaching and learning cycle 
that promotes student growth and 
guides instructional planning.

143.	 Option (3) is correct.
Explanation: Code mixing is when 
someone uses one word or phrase 
from one language to another 
language while code switching 
is when someone alternates two 
or more languages in the same 
conversation.
Code mixing refers to the practice of 
incorporating words or phrases from 
one language into another language 
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while speaking or writing. It involves 
blending languages within a single 
utterance or sentence. For example, a 
person might say, "I need to comprar 
some groceries" (mixing English and 
Spanish by using the word "comprar" 
for "buy").
Code switching, on the other hand, 
refers to the act of alternating 
between two or more languages 
within a conversation or interaction. 
It involves switching between 
languages at specific points, often 
influenced by various social, cultural, 
or linguistic factors. For example, 
a person might say, "I'll meet you 
at the restaurant para comer algo" 
(switching from English to Spanish 
for the phrase "para comer algo" 
which means "to eat something").
Code mixing and code switching 
are not synonymous. They involve 
different linguistic phenomena, 
although they both relate to the 
use of multiple languages in 
communication.
Code mixing and code switching 
can be observed in bilingual or 
multilingual individuals, as they have 
the ability to use and switch between 
different languages. They are not 
limited to monolingual speakers.

144.	 Option (2) is correct.
Explanation: Reading and writing 
skills are closely connected and 
intertwined. They are considered 
complementary language skills that 
support and reinforce each other. 
Developing proficiency in one skill 

often contributes to the development 
of the other.
Reading provides the foundation for 
writing as it helps learners develop 
vocabulary, comprehension, and 
language structures. Through 
reading, learners are exposed to 
different writing styles, genres, and 
models of effective writing, which 
can inform and improve their own 
writing abilities.
Similarly, writing enhances 
reading skills by promoting deeper 
engagement with the text and 
encouraging critical thinking. 
Writing requires understanding 
and applying the rules of grammar, 
syntax, and vocabulary, which can 
enhance reading comprehension and 
interpretation.
Therefore, it is generally recognized 
that reading and writing skills should 
be taught in an integrated manner, 
allowing learners to practice and 
develop both skills simultaneously. 
By engaging in activities that involve 
reading and writing, such as writing 
summaries of texts, responding to 
reading prompts, or analyzing written 
works, learners can strengthen their 
overall language proficiency.

145.	 Option (4) is correct.
Explanation: Based on the given 
options, the skill that is NOT being 
assessed by the teacher is (4) Hearing.

146.	 Option (1) is correct.
Explanation: The correct sequence of 
steps in the process writing approach 

is—  Pre write - Draft - Revise - Edit - 
Publish.

147.	 Option (1) is correct.
Explanation: Reading to find specific 
facts is referred to as (1) Scanning.

148.	 Option (2) is correct.
Explanation: To promote social 
language in class, a teacher would (2) 
give the learners the opportunity to 
interact with peers. This encourages 
communication and interaction 
among the students, fostering the 
development of social language skills.

149.	 Option (2) is correct.
Explanation: The teacher's action of 
asking the learners to choose story 
books from the classroom library 
and read individually promotes (2) 
Extensive reading. Extensive reading 
involves reading for pleasure and 
general understanding, often with a 
focus on reading a large quantity of 
materials to build reading fluency 
and develop a broader vocabulary.

150.	 Option (4) is correct.
Explanation: Working on spellings 
often involves learning new 
words, their spellings, and their 
meanings. By engaging in spelling 
activities, students can expand their 
vocabulary and develop a deeper 
understanding of word usage. This 
expanded vocabulary can enhance 
their reading, writing, and overall 
language skills.


